>
O
H
)

S
Fai]
T
A O
H
kb

8 = B
.9, %5%¢ 4
o WL | mmws s
g ¥ ' ?‘ i Quality & Environmen tal-oriented innova tion
.w"‘@{* =
s m@a @‘ £ e

L)
’

RremEEEELEHmBRAE

Dongguan Aotuo Precision Hardware Products Co.,Ltd



2 aiE

Company Profile

FRhAEEERSHRARATARE—REVHE . FFEELNRL, FAF5—AE. aEN2EROMNE
&, AEEENEALH, AFPEHISEHEEaSTRE.

FATTEFREEINEES . EOMRE. EURT. HROMRE . WA . ROMEE . ISENEE . PEERIFENE
7. RARE. EREET. ITERREEFRENIHRES maZNATRERE. BT R SEREAEEE
Tk,

AATHREEMAHNETRERGSE, IR ERENESERIEFENAFERIE, EEHENZEHERS. &
AEENEWAZ, FEHOHTRAFNELZNE, AR~ aNaEARER, ERTLPRERLTRARTELER
MEBFPHFT, SPFERENRI. FE. R, B, 58, T HESSRI=AMRA AP,

REERLAKIGES, SREBEASARRERELS  RINMGEER "RES—. BSAE" NEEESLTHE
BINMIFEEL ERRHESE—IE L ERE, MAMEIFRE

About us

Aotuo Precision is a professional provider of product solutions and services in industrial fastening and assembly
technology. we' ve been supplying customers with the parts they need and the service they deserve.

With more than 15 years of experience, Aotuo has grown to become a lead manufacturer of self-clinching
fasteners and equipment, rivet nuts and installation tools, customized CNC and lathing parts, general industry
fasteners, etc.

Customers rely on us for application design assistance and prototype samples with stable quality. We also reduce
inventory and delivery issues by keeping parts in stock and by making shipments that meet our customers’
production requirements.

We also listen and endeavor to provide a service to your specific requirements. With quality a number one priority,
we continually invest in the right people and products to provide the superior market knowledge and customer
service our customers demand.

fih

(]

i




las

%L-

fEHETLAL N BEM
Hole test tools Torsion dynamoneter Altimeter

<
=
| ©
|
1 - iy
.
I-l .9
M &
EEit EhEE LI TSN
Sclerometer Salt spray tester Anime measuring instrument

=Yg 2 al ! FEEIFEA
Computer push-pull machine Optical screening machine

_02_



Contents =ze=

[ESNIRE F 51 e TPS P.26
SELE-CLINCHING NUTS @ FikEfME FLUSH-MOUNTED PILOT PINS ’
@ CLS P07 - CHC/CFHC/CHA/CFHA P27
- EHEE SELF-CLINCHING NUTS : * #ELERET CONCEALED-HEAD STUDS ¢
ZS/NZ/NZS ‘ CSS/CSOS
@ » FEIEE FLARE-IN NUTS R é 123026 CONCEALED-HEAD STANDOFFS Fn

@‘ A BN/BNS P10
s 0V SR EEE HEXGONALINSERT NUTS :

ITR/ITS

TP/TPS
OIS SEAI NUT P29

FRIFIRET SEAI SCREW

e

BOB/BOBS
o & 7mEnEs HexGONAL P.10
i SELF-CLINCHING NUTS

; F/F4
@fﬁ WA INSERT NUT e

B/BS
& ? A7k 426 BLIND NUTS P12
BS
6 ' BI0RHAH48E SELF-CLINCHING P13
BLIND FASTENERS
e AS/AC/A4 P14
° ZEhHRES FLOATING FASTENERS :
@ FEOX/FEX P15
{5 iEa MINIATURE FASTENERS '
- LK/LKS/LKA/PL/PLC P16
V B#i® 8 SELF-LOCKING FASTENERS ;
CN/CNS/CNSS P18

EX#mE CAPTIVE NUTS

IRBHERS
THREADED STANGOFFS

SSA/SSS/S5C P30
% F#-EEESNAP-TOP STANDOFFS :

SKC
i @ =t KEYHOLE STANDOFFS Pl
‘ﬁ B50/BS05/BSOA P32
L 7 EESH BUND THREADED STANGOFFS :
pe SOO/SO0S
v | 7L 548 THRU-HOLEAND THREADED P33

STANDOFFS

SO/SOS/SOA P34

BILEREHE THRU-HOLE THREAD STANDOFFS ‘

TSOA/TS0O/TSOS P35
% HFREH THREADED SANDOFFS FOR THINSEET :

. 9 SO/SOS/SOA P36
IS+ THRU-HOLE UNTHREADED STANDOFFS

lz H ? 6’] SOSG/SOAG DSO/DSOS

sl it ‘ FEMREHE GROUNDING [E{Ei®@E+ CONNET'RWARE P.37
SELF-CL INCHING FLUSH STANDOFFS FASTENERS
FH/FHS/FHA SMTSO/SMTSOB/SMTSO
5k FE 4R T P19 - PCBISE @B SURFACE MOUNT NUTS AND P38
SELF-CLINCHING FLUSH-HEAD STUDS SPACERS/STANDOFFS
FHL/FHLS P20 SBB/SBS/SBC/SBA P39
(NLESIZET LOW-DISPLACEMENT HEAD STUDS : A ETEHE HEXAGON PILLAR STANDOFFS :
TFH/TFHS A/B/C/D/P/Q/R/S
AR EHIEST SELF-CLINCHING P21 & 8 sramsmm N &E BARS-1600355 P41
NON-FLUSH STUDS DIN INSERTS FOR OVERMOULDING-16903 SERIES

g | HFH/HFHS/HFHB i ERBETRT

= ELIEAMEET HEAVY-DUTY STUDS PRESS-IN STYLE CAPTIVE PANELFASTENER ASSEMBLTES
HFE/THFE PFO9/PF10
185k 4R FE P2 4THEAVY DUTY STUDS FOR P.23 A P43

l THIN SHEETS Q WPELRET PANEL FASTENERS
' NFH/NFHS q PF11/PF12
Ei, FAREHARET STUDS(HEXAGON HEAD) R4 V@P mommee eressnsvie capve screw P

FH/FHS/FHA P25 PF11MF/PF12MF P45
FFEMET SELF-CLINCHING STUDS AND PINS : BEIEEE PANEL FASTENERS :

_03_



= PF11MW/PF12MW SFH-KB-US
5, B WE4E5TFLARE-MOUNTED, FLOATING CAPTIVE P46 AN R ESL (H4T) Small Flat Head P.64
o™ o  PANEL SCREWS Knurled Body-AVK
PFHV Eﬁﬁéﬁ?ﬁagﬁsgsﬂl‘d STYLE CAPTIVE PAMEL u RH _KBC
% P47 ARk EEY (EF) Reduce Head/Knurled P.65
PF].O fjﬁéﬁﬁ?ﬁgﬁ?gﬁ IN STYLECAPTIVE PANEL N Body—CIosed End
FH-KBC
=1 PFIM/PFTME ll b O
WIE BEGLTPANEL FASTENERS P48 . sns&&gite‘{j ?c_.ilé ) Flat Head/Knurled P.65
. PR21/PF22 [ | RHH-FHB
h H#EIBETPANEL FASTENERS Rad NP  IR®AM Reduce Hex Head/Ful-Hex Body 00
g PF31/PF32/PFS31/PFS32 FH-FHB
FEAVE E T4 PRESS-IN STYLE P50 & ' B, 5 P.66
‘ CAPTIVE PANELFASTENER ASSEMBLIES SR i ST EC
RHH-FHBC
PF41/PF42/PF15/PF25 , I g 1
“ ity g ipasdsidos P51 < f'\;xfc;ti;:% DL:dﬂE]'geduce Hex Head/Ful P.67
ﬁ & pEso/PR60 . RHH-IHBC/SS
P52 TERNRLAS A (5F.) Reduce Hex P67
: @ MIRET PANEL FASTENERS \ Head/Inner-Hex Body-Closed End
FH-FHBC
| PN PF51/PF52/PF16/PF26 ) acie 2
% ‘ W ESSTPANEL FASTENERS P53 ;Fczsy’%é\bﬁ;eéizlé} Flat Head/Ful-Hex P68
. PF53 = FH-IHBC/SS
g@ 8 - — P54 . u P TERRAAN (W) Fi Hoatirar-tin P68
PFS2/PFC2 i . RHH-IHB 69
ESVRERIZETEM PRESS-IN STYLE CAPTIVE d Al v P.
‘ s e T ‘ INFSLASMA Reduce Hex Head/Inner-HexBody
PFC2P l FH-IHB
MR ERIRETEM PRESS-IN STYLE CAPTIVE P56 - 2 F _ P.69
PANEL FASTENER ASSEMBLIES ” TR AFlat Hex Head/inner-HexBody
PTL2/PSL2 RHH-IHB-UK
@iEEESY SPRING-LOADED PLUNGER P57 . ANRSLPISNYE (357) Reduce Hex P.70
ASSEMBLIES Head/Inner-Hex Body - Imperial Hole
st P58 l :Fi_éiﬁ:glfﬁﬁ} Flat Hex Head/| H P.70
A =} nner-He -
FFRBEEBFLUSH-MOUNTED RETAINERS & ) Body—broestal Heta' e
EETEEEA SELF-CLINCHING RECPTACLE NUTS FH-SQB
ESEERSTENF PRESS-IN STYLE CAPTIVE P.59 q ? ? tra P71
PANEL FASTENER ASSEMBLIES : FAFHEGRE Flat Head/Square Body
AT | FH-SLB
gﬂﬁw EHHIEE Flat Head/Slotted Body P71
RH-KB 3
‘ . (NFSLEBSREL Reduce Head / Knurled Body Lo ‘ ﬂ. B P.72
FH-KB L4547 Double head sign standoff - DSSD
‘ ‘ FELFIEES Flat Head /Knurled Body P61 ioe—— e sHLE Ea
CH-KB P62 : WELEEET Double head screw cap - DSC P.74
&l ' KIMSLFTEESRY Countersunk Head /Knurled Body
RH-KB-UK c RN Stainless Steel screw cap - SSSC P.75
‘ NS (2E4T) Reduce Head / Knurled P.62
Body - Imperial Hole
T #@18%] Brass screw cap-BSC P76
RH-KB-US P63
‘ SEELHITE B S (24T) Flat Head Knurled Body-AVE ~ ° EEE L ETE A

_04_

P.78




_05_



FRELEAHE Finish Code

Finish FEE CodettEd Finish FEIE Cade 453
Zinc Blue R ZuU Nickel Flash ERR NI
Zinc Black R B Mickel Electroless FEREE EN
Zinc Yellow R Fios Chrome Flash = CR
Zinc Clear wRE Zl Tin Flash ERS ET
Black Anodize HhEE BL Passivation 2014 PS
Natural Anodize SiEe NA Gold Plating i AU
Gold Anodize FiEe GD Silver plating 2R AG
Copper Red i RU Titanium plating 2 m
Copper Yellow | YU Cadmium plating g cD
Nickel Over Copper iR ES CN Zinc-lron Alloy EE-HES ZF

- Tin Man @15 oT " Chvomate st CH
Flash Black Painting coating EERE PC Plain EE X
Sn/Pb plating HEEaE P Electro painting Rk EF
Sandblast and Anodize BV ERR: SA

S HiEiEhEXIEE Commen use sentence

English sz
Type BE
Thread Size B
Thread Code L bg)
Length Code I =EB
Shank Code R R
Sheet thickness | 1=
Hole size in sheet BERILRT
Min dist Hole C/L To Edge LRI S NEE
Steel e
Stainless Steel | I FEN
Aluminum iz
Brass 5l
Kurled R
Smooth Head FRE
Thru-hole Diamter A&
Max,Hale in Attached Parts FiERAERTL
Min.Depth of Blind Hole BNREAR
Min.Depth Full Thread BERE

HEABMMEE Commen use units

1 [E3# (cm)=1088 34 (mm)=100 £ (dmm)=0.394 3] (in)
135 =254 (cm) =25, 435K () =254 £ (dmm)
 1¥35(kg)=10005%(g)=2.205 b)
#(1b)=0.4541 T3 (k)=4543%5 0)
VBB Iof-in)=0.11 3Bk (N-m)=1.1 52F 32 B kgf-cm)
TR (kgf-crmn)=0.098 4813 (N-m)=0.868 3 T (Ibf-in)

_06_



EHMREBSELF-CLINCHING NUTS

BE HEHAS RS s EERS
Type Materal Thread Shank Finish
code code code code TBRGZEINSTALLATION

l 7,

D —

JaTa R SREFEN

1/ SALELPEE
SASEIFLPEFEY, IS4

=

%

S .

X

MNOTE-Pressure rivel nuts can be customised for threads above M12.
Means that this size does not apply to SP
S TTRUEEM 1 2L EpIsR SR E e B
(2 HBE-RIFEETSP

ALL DIMENSION ARE IN MILLIMETERS(#EAmm 84i)

0 077 0.8

M2x0.4 5 cLs : W2 1 097 ] 425 422 635 15 48
2 1.38 1.4
0 077 08

M2.5%0.45 5 cLs sp M2.5 i 0.97 ] 425 422 6.35 15 28
7 138 14
0 0.7 08

M3=0.5 ] CLS SP M3 1 0.97 1 425 422 6.35 15 4.8
2 1.38 1.4
o 0.r7 08

M3.5x0.6 5 cLs : M35 1 0.97 ] 475 473 7.41 15 56
2 138 14
1] 077 0.8

Max0.7 5 cLs P M4 1 0.97 ] 5.4 533 7487 2 6.9
2 138 1.4
) 0.77 08

M50.8 5 cLs P M5 i 0.97 ] 6.4 633 864 2 71
2 138 14
0g” 0.89 0.92

M1 5 cLS sp M6 o 1il3 12 875 873 11.18 4.08 85
1 1.38 1.4
P 2.21 23
o 1.15 1.2

Max1.25 3 cLs P WM& : 138 14 105 1047 | 127 5.47 07
2 2.21 23
o 1.38 1.5

MI0x15 5 cLs s W10 ] 2.1 23 14 | Hen | 135
2 200 20
o 1.95 20

M12x1.75 s % = M12 1 3.00 3.0 17 16.95 20 9.0 16
2 55 50

_O_II_



EHMRBSELF-CLINCHING NUTS

A=l =] ie may vary)
Due fo manufactunng proceadure,
pants may have a countarbong &t shank end.

EWRTERERAEL, ENREIERIER,
B sTE RS T .

(1) Cther specifications can be customized
(2) Marked with 2 is not suitable for SP

(1 ETLATTREE A4S
([QEAREFSEA TSP

0 030 030
oida s cLs sp 256 i 038 040 166 165 250 070 19
2 054 056
0 030 030
.099-48
(#3-48) S CLS 348 ;l2 .g:i .g:g 166 165 2580 070 19
0 030 030
112-40 1 038 040
[#4-40) 5 CLS Sp 440 = e e 166 165 250 .70 19
37 087 090
0 030 030
.138-32 1 038 040
(#6-32) s CLS SP 632 ) 054 056 J875 J87 280 070 e
o 087 090
o] 030 030
A64-32 1 038 040
(#8-32) 3 CLS SP 832 > e — 213 212 310 090 27
3" 087 090
0 030 030
150-24 1 038 040
[#10-24) s CLS sp 024 = . e 250 249 340 090 28
il 087 080
0 030 030
[',1193_'322, S CLS SP 032 ; 'ggi 'g‘;g 250 249 340 020 28
T 087 080
216-24 L 038 040
#12-24) s cLs 1224 2 054 056 217 276 370 130 3
3 087 090
0 045 047
250-20 . 1 054 056
{1/4-20) 5" CLS Sp 0420 > e e 344 343 440 A70 34
F 120 125
1 054 056
'25'::'23 s CLS = 0428 2 087 090 344 343 440 70 .34
(1/4-28)
3 120 125
1 054 056
! 3__'3 Lo CLS SP 0518 2 087 090 413 A12 500 230 38
(5¢16-18) =
3 120 125
313-24 1 054 056
by s CLS SP 0524 2 087 080 A13 412 500 230 38
(5¢16-24)
i 120 125
1 087 090
%?_’:; s CLS SP 0616 2 120 125 500 499 560 270 A4
=]
3 ,235 250
1 087 090
i CLS Sp 0624 2 120 125 500 499 56O 270 A4
(3/8-24) S
3 235 250
['?ﬁi‘_ig, s 0720 1 0.87 092 562 561 687 an 562
500-13 1 120 125
{1/2-13) s CLs o6la 2 235 250
B56 655 810 360 63
500-20 s oL . 060 1 120 125
{142-20) 2 235 250

_OB_



AR FLARE-IN NUTS

B HEltS s WwmERS 2 E#ENS
Type Materal Thread Shank Finish
code code code code

{EGZEINSTALLATION

ALL DIMENSIONS ARE IN MILLIMETERS
EIfX##W ROUND TYPE

TILIT

Plate Thick
M3x0.5 z zs M3 1.5 1.5 1.5 5 498 T
2 2 2
1.2 1.2 12
Max0.7 Z et mMa 15 1.5 15 6 5.98 8
2 2 2
2 2 2
MEx0.8 d Fay M5 3 3 3 8 7.98 10
2 2 2
Mix1 & zs ME 3 3 3 9 8.98 n
2 2 2
M8x1.2 rd M 1 10 1
x1.25 Z5 8 3 3 3 0.98 3
2 2 2
M10x1.5 Zz Z5 M10 3 3 3 14 13.88 16

7"AEES HEXAGON TYPE

M3x0.5 NZ NZS M3 1;’ : 25 'f 5 408 6
15 1.5 15

M4x0.7 NZ NZS M4 2 2 2 & 5.08 7
3 3 3
2 2 2

MSx0.8 NZ NZS M5 3 3 3 8 7.08 g
4 a a
3 3 3
4 Pl 4

M1 NZ NZS M6 = = : 9 8.98 10

& 6 6
3 3 3

M8x1.25 NZ NZS Ms ; ‘5‘ ; 11 10.98 127
6 6 &
3 7 3
4 Pl 4

M10x1.5 NZ NZS M0 5 5 5 14 13.98 16
& 6 6
10 10 10

1
o
5




#iEHtERE HEXGONALINSERT NUTS

sEyfs
Type Thread

HMELS BEXS
Shank Finish
code code

ALL DIMENSION ARE IN MILLIMETERS(#3LAmmE{i)

REFEINSTALLATION

A

1 0.9 10
M2.5x0.45 EN BMNS M2.5 5 18 20 45 4.5 47 21 55
1 049 10
. 5 . 1 .
M3x0.5 BN BNS M3 2 18 20 4.5 4.5 4.7 2 55
1 0.9 1.0
MaAx0.7 EM BMS M4 3 18 20 5.5 5.5 57 23 70
1 0.8 10
.| £ . A 3
MEx0.8 EN ENS M5 2 18 20 6.5 6.5 6.75 3. 80
1 0.9 10
MEx1.0 BN ENS M& 3 18 20 8.0 BO 83 41 100
Max1.25 EN BNS Ma 2 1.8 20 10.0 10.0 10.3 47 130
M10x1.5 EM BNS M10 2 1.8 20 125 125 12,85 6.2 150
M12x1.75 BN ENS M12 3 2.8 3.0 14.5 145 14.85 T2 17.0
M1622.0 EM ENS M16 3 34 35 18.5 18.5 18.85 9.6 220
M20x2.5 EN BNS M20 4 3.8 4.0 23.0 230 234 122 270

NAESIRE HEXGONAL SELF-CLINCHING NUTS

D O

wwis
Type Thread
code

Shank Finish
code code

RXRFEINSTALLATION

e

89,

T

=

0 0.8 08

M3x0.5 BOR BOBS M3 1 1.0 1.0 45 4.45 5.5 20 4.8
2 1.4 14
0 0.8 0.8

Wax0.T BOR BOBS M4 1 1.0 1.0 6.5 5.45 7.0 22 69
2 14 14
0 0.8 08

M5x0.5 BOB BOBS M5 1 10 10 6.5 6.45 8.0 3.0 7.1
2 1.4 14

MEx1.0 BOB BOBS M6 L ik s 8.0 7.95 100 40 B6
7 1.4 15
1 1.15 1.2

MEX1,25 BOR BoBS M8 = T4 TE 105 10.47 127 50 97
1 18 2.0

M10X1.5 BOB BOBS M10 2 T = 125 12.45 15 80 1

M12X1.75 808 BOBS M2 : L. =1 145 14.45 17 100 13
2 2.8 30




MARBINSERT NUT

MBS

ns
Type

s
Thread
code

B #

Ll

REFEINSTALLATION

& B Before Press

E#
Punch

lew
Anvil

E & After Press

€ Cc 4:
A A
2,3,4, 5548 1 E8HEXBF
HEeNE Profile For -1 H
Profile For-2,-3, shand Code
-4,-5shand Code
ALL DIMENSION ARE IN MILLIMETERS(#3EAmmE1iz)

1 1.53 1.53-2.3

M2x0.4 F4 M2 % = oy 4.37 4,35 475 [
1 1.53 153-2.3

M2.5x0.45 Fa M2.5 2 e ey 437 435 475 &
1 1.53 1.53-2.3

M3x0.5 Fa M3 = e o 4.37 4.35 475 [
1 153 153-2.3

M4x0.7 Fa M4 = o = 7.37 7.35 8.0 7.2
1 153 153-2.3

MEx0.8 F4 MS 5 23 2330, 792 79 8.7 -]
3 3.05 3.18-394

MExX] Fa M6 4 3.84 3.96-4.72 874 B.72 95 8.8
B 4,63 2.75Min,

ALL DIMENSION ARE IN INCHES($3LAZE<T 4L

086-56 1 060 060-,090

(#2-56) Fa 256 = — Ty a72 A7 a88 23
112-40 1 060 \DR0-080

(44-40) F4 440 5 e e 72 71 q88 23
138-32 1 060 060090

#6-32) Fa B3z = = ST 213 212 250 27
64-32 1 060 D60-.000

(#8-32) Fd 832 = = FrT 290 289 312 28
190-32 1 060 JDB0-080

#10-32) Fa 032 - T e 312 311 343 21
3 120 125-155

gﬁiﬁg Fd 0420 ] 151 RESED 344 343 375 34
5 182 87NN,




fi7kiRE BLIND NUTS

oo,

B Bs MELS EBEERS
Type Thread Shank Finish
code code code

H#l
Punch

WD)
25 A U Lsensme
et B
T Ung
Nicaia/ RN o),
NS

ALL DIMENSION ARE IN MILLIMETERS(#EAmm24{i)

1 0.97 1
M3x0.5 B BS M3 > s = 425 3.84 422 6.35 53 85 06 48
M4x0.7 B BS Ma ] L ! 5.4 5.2 538 7.95 7.1 98 | 12 69
y 2 138 A ; ; ' : : :
M5x0.8 B BS M L oid L & B.02 6.38 875 7.1 98 | 112 7
i 2 138 T4 2 ; : : : ; 1 o)
1 738 T4
MBx1 B BS M6 : 2 == 875 7.8 872 1.1 7.8 127 | 143 86
1 738 T4
MEx1.5 B BS MB 5 257 33 105 9.7 1047 12.7 10 133 15 10

ALL DIMENSION ARE IN INCHES(#9EAZE~T8{T)

}Llaidu? B BS 440 ; _g:z g;g 166 150 165 250 210 335 | .380 18
}L?i?z? B BS 632 ; ﬁ gg 1875 169 RE:Y 280 230 338 | .380 22
{Ls;;g B BS 832 ; g _g;g 213 .204 212 310 280 385 | 440 27
141193—_% B BS 032 ; g g;'g 250 235 249 340 280 .385 440 28
[122?225 B BS 0420 ; g: gzg 344 .305 343 430 310 500 | 560 34

_‘I 2_



BNZHARES SELF-CLINCHING BLIND FASTENERS

ns HEHES B S BB i ER
Type Materal Thread Lenglh Shank #ZHFZEINSTALLATION
code code Code Code

B+oos

B, RELENEAEBE
Material,Finish and for use in sheet Hardness

&

BREAGEIRERSIE, Sas

EMTFBIEMtREE ST I/ FHREEO,
BSH300RFAHEMEE, M EHmASTM AIB0 BT,
BSIEFMEAEES THIVFHRBTO .

NOTE:

B Type fasteners are made of heat-treated carbon steel and Zinc plating{Z1):

Type B fasteners are availabie for sheet Hardness 80 or kess on the Rockwell "B’ scale.
BS TYPE fasteners are made of 300 series stainless steel, passivated and/or test per
ASTM A380,

BS type fasteners available in sheet Hardness 70 or less on the Rockwell "B' scale.

ALL DIMENSION ARE IN MILLIMETERS(#3EAmm&4i)

0 Q.77 0.8-1
M3x0.5 BS M3 ] 0.97 1 425 422 635 10 5.3 48
2 1.38 1.4
1] 077 0.8-1
M&0.7 BS M4 1 0.897 1 5.4 538 795 10 71 6.9
2 1.38 1.4
1] 077 0.8-1
MEx0.8 BS S 1 0.97 1 6.4 6.38 875 10 Tel T4
2 1.38 1.4
o 1.15 1.2
MEx1.0 BS B 1 1.38 1.4 875 872 111 10 6.3 8.6
2 221 2.3
1 1.38 14 16 10
MEx1.25 BS B 105 10.47 1285 9.7
2 22 23 20 14
20 14
M12x1.75 BS M12 2 185 2 14.1 14.1 17 108
30 24

_‘I 3_



FaIRE FLOATING FASTENERS

fide= S MBS EEXS
Type Thread Shank Finish TR AZEINSTALLATION
code code code

LB

g -
- “Cj“ / Min
- s %B m/.25°
" Z
-3
Anvil
Ti_jA L —i“
o i cle g =t ] o
N
NOTE: With (1] This specification is not available for A4 and LA4 models. —
(AU RE AT ALLAGEE Weninthing Self-locking
Type AS AC Type LASLAC
EEH =]
AS/ALRY LAS/LACHY
ALL DIMENSION ARE IN MILLIMETERS(#3EAmm £4{i)
Mma05 | as | ac Ad LAS | LAC Laa M3 2‘“ 01‘9: C;'gj 7.37 735 | 737 | 914 | 331 | 483 | 782
1 0.97 097
Maxo7 | as | ac Ad Las | Lac LA Ma 035 |933|9028 |1118| 331 | 534 | aes
Msx0.8 | AS | AC Ad Las | Lac Lad L Ll 1031 |1029]|1029|11.04| 432 | 686 | 914
i = 1.4 14 - ’ -
Mex10 | AS | AC - LS | LAC - e 2 14 14 1308 |1306]1206|15.24| 534 | 7.88 | 1067
.
ALL DIMENSION ARE IN INCHES(13LAZ T 84i)
N30 1 o | ac A4 s | Lac LA4 440 b__L0dB 1 MO 290 289 | 200 | 380 130 | a%0 | 30
([#4-40) 2 0.54 056
3632 1| 038 | .040
weaz | 25| A Ad Lss | Lac LAd 632 |t 328 327 | 335 | 300 130 | 200 | 32
6432 i 038 | 040
waan | AS | Ac 4 Lss | Lac Lad B e 368 367 | 365 | 440 | 130 | 210 | 34
190-24 3] 0.38 040
Wioan | A | % - Lss | Lac - e 406 405 | 405 | 470 | 470 | 270 | 38
190-32 1 0.38 | 040
mas | 2 | R A4 Lss | Lac Lag o | 406 405 | 405 | 470 | a70 | 270 | 38
{fif_':; as | ac : Lss | Lac - o420 | 2 |o0s54| .86 515 514 | 510 | 600 | 210 | 310 | 42
250-28
azs | 25 | A - Las | Lac - o428 | 2 | o054 | .06 515 514 | 510 | 600 | 210 | 310 | .42

_14_



M= EHRE MINIATURE FASTENERS

Bs PSS MEHsS
Type Thread Shank REFZEINSTALLATION
code code
E#
Punch
Cl 1 D
7 L
&
E
% AT

D
+.005"/+0.13mm
+.01%/40.25mm
( U/FEX/FEOX 28 [EH24b 1 )
TYPES U/FEX/FEOX ROUND

P
7 (FE/FEO/UL R EHERHFLE )
TYPES FE/FEO/UL TOPS HAVE
— ELLIPTICALLY SQUEEZED
LOCKING FEATURE

ALL DIMENSION ARE IN MILLIMETERS(#3EAmm 54i)

0.76-0.91

M3x0.5 FE;{X FFEEO M3 : g: E‘llgE?__l-l;: 4.39 437 3.96 4.88 1.9 356 35

Mdx0.7 = = M4 S eam AT 7.39 737 | 523 | 817 | 285 | s2 45

MEx0.8 FFEDO(K F:FEEO M5 : g 0195;9__'1_:; 7.39 TAaT 5.48 817 3.058 52 5D
MGx1 FEX FE MG 153 1.5-1.78 8.74 B72 T.72 9.74 3.3 71 6.5

ALL DIMENSION ARE ININCHES(#EAZE~T81)

060-80

(#0-80) u UL 080 0.20 .019-.022 110 L1095 076 J26. 050 09 080
;:?:; u UL 164 0.20 a-022 110 1095 090 A28 050 09 093
086-56 020 019-022

(#2-56) u UL 256 031 030-.036 144 1435 106 60 065 1 106
112-40 FEOX FEO 040_|039-045

{#4-40) FEX FE 440 60 055070 ATz A7 145 192 065 14 132
A38-32 FEOX FEO 040 039-.045
#6-32) FEX EE 632 060 059-070 213 212 180 244 075 =i 158
164-32 FEOX FEO D40_| 039-045

(#8-32) = = 832 S o 290 289 | 215 | 322 | w090 20 184
190-32 FEOX FEOQ 040 039-.045
#10-32) = = 032 T 290 289 | 245 | 322 | 10 20 210
1/4-20 0428

7438 FEX FE 5130 060 | .053-070 344 243 | 3ie | 38s | a20 28 270

_‘I 5_



Biitf8 SELF-LOCKING FASTENERS

ns s HELS
Type Thread Shank REFZEINSTALLATION
code code
5007 /13mm
™ Dia.Min. T
& #
Punch

|
VAR o718 5mm
Brezk Corner’] % Min
.005'/0.13mm/ /y !

N A
+.005°/+0.13mngs Anvil
-010'/40.25m ;

500" /13mm__}
"L— Dila.Min.
T
D g
E JA

ALL DIMENSION ARE IN MILLIMETERS(#3EAmm 24i)

D

MAX

M2.5x0.45 & 2 2 M25 . ?:3_; — 437 435 | 445 | 635 | 343 29
M3x0.5 tt t:g ﬁ M3 ; ?g; 11. 7 4.75 473 4,85 6.35 3.43 4.0
MAx0.7 o tﬁg T M4 ! > - 6.76 673 | 62 | 873 | 445 5.2
MEx0.8 t: I.I:EE ﬁ M5 ; ?g 114 T.92 7.9 T4 953 5.21 56

B

c Aluminium
'&fﬁéﬁ? t: tﬁg tKK: 256 ; ggi ggg a72 a7 | aes | 280 | a3s 156
(:4142-.1‘;{: ::: tﬁg ﬂ 440 ; g:: gg 187 186 185 250 135 156
:#3;3322 tﬁ I[ﬁg ﬁ 632 ; ;Egi 'ggg 219 218 | 220 | 312 | 145 187
[LZ::;}? tt tzg tKK': 832 ; ﬁ:ﬁ 'ggg 266 265 | 250 | 343 | a7s 203
[';?3_'322, ::: EE; ::KK: 032 ; :ggi '§§§ 312 an 285 | .ars | 205 218




Biit#8 SELF-LOCKING FASTENERS

B= HEAS =3l it
Type Materal Thread Finish ﬁﬂﬁﬁ INSTALLATION
code code Code

Mylon locking element(EEEISTTE)
{Blue identifier for unified fasteners/black identifies metric fasteners)
(ESFAF J|rf—ERFREeFRFRETAMERE)

I

—-ALFT—-

Clinching profile may vary.
TREERASESERAE

NOTE:

Thread locking torque performance is eguivalent to applicable NASM25027 specifications

The strong knured collar receives the installation force and resists torgue.

The spin resistance of the knud greatly excesds the torgue that can be exerted by the sef-locking feature
&

iR R IBMHE S EFE AR NASM25027 HiE

EEMEEHFEFRRRE L HERES

FERIBEFETE N AT T B BT BEFRHERE R E

ALL DIMENSION ARE IN MILLIMETERS(#3kimm 21i)

E M3x0.5 7 PLC M3 1.53 1-1.78 6 598 552 7.01 3.56 4.32 35
=
= Max0.7 PL PLC M4 153 1-1.78 7.5 7.48 7.01 8.54 4.2 559 45
[
g MEx0.8 FL FLC MS 1.53 1-1.78 8 7.98 7.52 9 4.45 6.35 5.5

ALL DIMENSION ARE IN INCHES(#LAZ T 81i)

BE T
x2S

Type
FEHEE Fastener Material

)
=
=
jul
E PL PLC 440 060 040-070 234 233 215 274 130 70 32
i
138-32
g (#6)32 PL PLC 632 o] 040-070 265 .264 246 305 130 190 158
l:‘:::;?é? PL PLC 832 060 040-070 297 296 278 338 158 220 B4
190-32
(#10-32) PL PLC 032 060 040-.070 312 311 293 353 JE5 250 210

{1)Can be used In panel thickness of 040" 10 060" /1 mm to 1.53 mm provided the fastener is not fully installed. The knurled collar must be left protruding above the sheet to the
degree that the sheet thickness is less than 060" /1.53 mm. See installation instructions.
(2)Knurled collar may fracture if fastener is used in sheets thicker than 070" /1.78 mm and screw is tightened beyond maximum tightening torgue.

() TAFEEA 0.040 FDE 0060 /1 BAEE 153 BENER, EEEMFER2LYE, BERFOAEH TR, EEMEENT 0060 £/1.53 B3, SNEHiN
(2)MBEEEHATEEAT 0.0707/1.78 mm AHEH, BESFENESTRATENE, EERFIESRR.

_‘I _II_



+IIRE CAPTIVE NUTS

B wats NS
Type Thread Shank
code code

1. The cassette nut is put into a plate with a pre-dirilled hole, wherein the plate is drilled
in two shapes, one is a square hole, so that the installation is convenient, and the other
5 a rectangular hole, and the cassette nut is installed in the rectangular hole and can
slide up and down, The hole size of the plate must correspond to the cage mut,
Please refer to the specification sheet below.

2. There shall be no burr at the bend and edge of the cage nut, and the surface shall
be smooth.

3. The cage nut is clamped on the plate by two sides of the spring clip.

BHRFGEINSTALLATION

| meMman E
—————————P

v/

1HE-FURSNA T LAMEH A, FEFRAREARER, —HIEEA, EEEETR
#, B—HEREREIL, FREGRREEAEILAN ETED. SHPAEAN—EES
FRRESENL, &S E TEMIESHE,

2FHRSMIFEL ML R, RSN
3B RRBW RN R £

ALL DIMENSION ARE IN MILLIMETERS(3Amm #1i)

Méax0.7 CN CNS CNSS M4 11x%11 08-28 9.549.5 4.20
MSx0.8 CN CNS CMNSS M5 11x11 08-28 95x9.5 410
MEx1 CN CN3 CN3S MG 1111 08-28 9.5x9.5 3.80
M8x1.25 CN CNS CNSS B 14x14 1.0-35 125x125 T.44
M10X1.5 CN CNS CNSS M10 14x14 1-3.5 125x12.5 6.70
M12X1,75 CN CNS CNSS M12 17 154 1556155 13.80

_‘I B_



FLEHNIRE] SELF-CLINCHING FLUSH-HEAD STUDS

BE MES miEts
Type Thread Shank BEAZEINSTALLATION
code code
En
F'urlch
> LT :' 75
-3 .
Anvil «
— /
NOTE: L

FH4 is specially designed for press fiting of stainless steel plates and is
hardened in SUS410 material Calculation method of inch screw length:
actual length (L)= length code [L)/16X25.4.

e &

FHAZE X TERENEEMIEITE, RASUSA1 0 EHELTRE
RESRTIRETTHAE: TFEEE (L) =EE{RT (L) 16X25.4

ALL DIMENSION ARE IN MILLIMETERS(#kimm 24i)

HE Type

7] =
Aluminium
M2.5x0.45 FH FHS FHA M25 |6 |8 |1012|16)118| 7 | F ||/ 1 25 31 4.1 1.85 5.4
M3x0.5 FH FHS FHA M3 6|8 |10(12|15|18|20|25) ¢ | / il k| 3.6 A6 21 5.6
M3.520.6 FH FHS FHA M35 |6 | & |10(12|15]|18|20|25|30( / 1 35 4.1 53 225 6.4
Max0.7 FH FHS FHA M4 6|8 |10|12(15|18|20|25|30(35 1 4 46 5.8 2.4 7.2
MEx0.8 FH FHS FHA MS /| 8110|112(15(18|20|25(30(35 1 5 5.6 6.5 27 7.2
MBx1 FH FHS FHA ME | f]10112(15(18|20|25|30(35 16 6 6.6 8.2 3 7.9
M8x1.25 FH FHS FHA Ma F|f] /4 |12(15(18|20|25(30(35 24 B B.6 8.6 37 9.6

ALL DIMENSION ARE IN INCHES($3LAZE T 8{i)

1

'[;'325__51? = FHS FHA 256 |4|s|e 8|02/ ]|/ 040 085 105 144 | 075 87
112-40

(#4-40) FH | FHS | FHA | 440 |4 |5 |6 |8 |[10|12[14|16[ /| /| .40 an 135 176 | 085 219
138-

[#2?332? FH | FHs | FHA | 632 4|5 |6 |8 [10[12[14]|16]|20({24| 040 137 160 206 | .090 250
163-32

(#8-32) FH | FHS | FHA | 832 (4|5 |6 |8 [10[12[14]|16]|20({24| 040 163 185 237 | 000 281
190-24

(#10-24) FH | FHS | FHA | 024 |/ |5|6 |8 [10{12[14|16[20|24| 040 189 210 256 | .100 281
.190-32

(#10-32) FH | FHS | FHA | 032 |/ |5|6|8|[10]12[14|16[20|24]| o040 189 210 256 | .100 281
250-20

(1/4-20) FH | FHS | FHA | 0420 | /| |6 |8 [10]12[14|16[20|24| o062 249 270 337 | 138 312
313-185

(5/16-18) FH | PHs | FHA | o518 [/ | 7| 7|8 |10[12|14]|16]|20|24| 093 an 333 376 | 160 375




INLEEHDERET LOW-DISPLACEMENT HEAD STUDS

o @ o @ TR ZEINSTALLATION

ﬁELﬂ

unihreaded lengtn
EF KB

= HHEAS KELS EERXS
Type Materiat Thread Slze Length Finish
code code code code

2

RERSHMET, FHLERIRTERRA N
AEEEE FH/FHS B g BB R0 SRR 0%

=

Depending on thwead size.Type FHL studs
can beinstalled almos 50% closarto he
edge of a sheet thanPEM Type FHIFHS
shuds,

ALL DIMENSION ARE IN MILLIMETERS(#2Eimm 24iI)

M2.5=0.45 FHL FHLS M2.5 6 g |10|12)115 |18 ] f ! ! ! i) 25 28 315 | 21 2.8
M3=0.5 FHL FHLS M3 (] Bl|10|12]15| 18120 (25 [ ! 1 3 22 365 [ 21 33
M3.5%0.6 FHL FHLS M3.5 6 8 |10|12)15]|18]20 | 25|30 | ¢ 1 35 39 415 | 23 38
M4=0.7 FHL FHLS M4 6 8 |1Ww|12|15|1&8| 20| 25| 30|35 1 4 45 465 | 24 4.3
M5=0.8 FHL FHLS M5 s 8 |10|12 )15 |18 20 | 25 | 3D | 35 i) 5 5.2 59 27 5.6

ALL DIMENSION ARE IN INCHES(3LAZE<T B {i)

Thread

'[3222}5 FHL FHLS 256 d|ls|le|altolaz] | 2| ]| ¢ 040 085 100 112 | 080 098
112-
'[#42_4:3 FHL FHLS 440 4 5 6 B 1|12 | 14 | 16 ! ! 040 Jd11 126 138 | pas 124
[LSB_;Z? FHL FHLS 632 4 5 3] B 10 |12 |14 (16 | 20 | 24 040 A37 152 64 | 090 180
164-32

FHL FHLS 832 4| 5|6 |8 |1w0|12|14|16|20]|2a| wo40 163 178 190 | 090 AT
(#8-32)
[; ?3-_:22, FHL FHLS 032 i |s|6|&|10]12]14]| 16| 20| 24 040 189 204 225 | 100 210




i EHRE] SELF-CLINCHING NON-FLUSH STUDS

@ @ @ o REFTEINSTALLATION

BE Bats HEtS EERS
Type Thread Shank Finish
code code code
E# +.0207/+051mm
Punch +. 0217 /+053mm

— H—|
+. 015" /+0.4mm
+.025" /+0.6mm

E#

Punch

e
Thread

tch

M3x0.5 TFH TFHS M3 6|8 (10)|112|15|18|20]|25) / ! 0.51 3 36 4.5 1.8 | 0.64 5.6
Ma=0,7 TFH TFHS M4 {8 |(10|12|15|18|20|25|30 |36 0.51 L] 46 5.8 1.8 | 064 T
M5x0.8 TFH TFHS M5 ! 18 [(10)|12]|15|18|20]|25]30(35 0.51 5 5.6 6.4 23 | 064 7.2

ALL DIMENSION ARE IN INCHES(3LAZE T 84ir)

Hifvin

Minimum  Plat

> H

00 1.25 1.50 Thi

086-56
(#2-s6) | TP S %6 (4|5 |6(8 (1012 /|| /]| /]| 020 085 105 aa1 | 070 | 025 | a7
J112-40
[#4-40) TFH TFHS 440 | 4|5 |6 |8 (1012|144 |/ || 020 11 135 A76 | 070 | 025 219
{Lt-gf] TFH TFHS 632 4|5|6|a|1w|12|1af16|20|24| .20 37 180 203 | .070 | 025 250
164-32
it TFH TFHS 832 4|5 |6|8|10|12]|1a(16]|20|24| .20 163 185 234 | 070 | 025 281
190-24
#10-24) TFH TFHS 024 ! 5 7] 8 (10|12]14|16]| 20| 24 020 189 210 250 | 090 | 025 281
{;?g_'::} TFH TFHS 032 r|s|6|8|10|12|14]|16|20|2a| .020 183 210 250 | 090 | 025 28

_2‘T_



F3kEHIRE] HEAVY-DUTY STUDS

@ @ @ REFZINSTALLATION

Bs aats mES
Type Thread Shank
code code

0357-.036" (1032) 0.94mm—0.96mm (M5)
. 0457-. 046" (0420) 1.14mm—1.16mm (M6)
.0637-. 064" (0518) 1.62mm-1.64mm (M8)
.077"-.078" (0616) 2.1mm=2.12mm (M10)

E#
Punch

L1

— H —
+. 0157 /+0.4mm
+. 0257 /+0.6mm

Unthreaded
Length

ALL DIMENSION ARE IN MILLIMETERS(3EAmm £4i)

MEx0.8 HFH HFHS HFHBE M5 15 | 20 | 25| 30 | 35 | 40 | 50 1.3 5 6.5 78 27 1.14 10.7

M1 HFH HFHS HFHB MG 15 (20| 25| 30| 35 | 40 | 50 15 ] 1.5 9.4 28 1.27 11.5
M8x1.25 HFH HFHS HFHB M3 15 | 20| 25| 30 | 35 | 40 | 50 2 B 9.5 125 35 1.78 127
M10x1.5 HFH HFHS HFHB MIO |15 |20 (25|30 | 35|40 ( 50 23 10 11.5 15.7 4.1 229 137

ALL DIMENSION ARE IN INCHES($3LAZE<T8{d)

E

B
#.01 B Blax Min D

Alurniniurm

[;193_-?::.22! HFH | HFHS | HFHB | 032 | 8 [12|16(20| 24|28 32| .050 190 250 300 | 105 | 040 415
250-20
(1/4-20) HFH HFHS HFHE 0420 | B (12|16 |20 |24 | 28 | 32 060 250 312 380 | 125 | 050 ABD
['53,'12-—:; HFH | HFHS | HEHB | o518 | 8 (12| 16|20 |24 |28 32| 075 a12 a8 480 | 140 | 070 500
375-16
S HEH | HFHS | HFHB | 0816 (NA|12 |16 (20|24 |28 | 32| 090 315 437 580 | 155 | 085 | 530

_22_



ELEiRENIRETHEAVY DUTY STUDS FOR THIN SHEETS

@ @ @ @ RHFZINSTALLATION

Bs B s EEALS EEKLS T | L "
Type Thread Length Finish
code code code

unthreaded length

TAKE

ALL DIMENSION ARE IN MILLIMETERS(3Amm #4i)

Mox0.8 HFE M5 15 | 20| 25| 30 | 35 | 40 | 50 1 5 7.3 9.6 2.6 1.36 10
HFE 1 28 1.52 11.5

1 ;
MEx1 TEE ME 5| 20|25 |30 (35| 40|50 = 6 8.3 1.3 —2 i 105
HFE 1.6 33 213 145

] 1 ; :
MBx1.25 THFE MAB 5|120| 25| 30| 35 | 40 | 50 0 B 103 15.3 59 254 15

Tensile strength: 900 Mpa

ALL DIMENSION ARE IN INCHES(3LAZE T 84ir)

Inchj

750 1.00 1.25 1.50 1.75 200

ol M HFE 032 8 | 12|16 |20 | 24 |28 | 32 040 .190 280 357 | .02 | .048 360

(#10-32)

. 250-20 k- 040 118 | 060 470

(144-20) = 0420 (8 |12 |16 |20 |24 | 28 | 32 e .250 340 e —

.313-18 HFE 060 133 | 083 560
1 = . i

(i16-18) e 0518 | 8 | 12|16 |20 |24 | 28| 32 5 312 402 586 — 1T oo0 506

Tensile strength: 120 Mpa
e 2 3 =



7 A EHIRE] STUDS(HEXAGON HEAD)

@ @ o @ %75 %INSTALLATION

Bs BT MBS EEAS
Type Thread Shank Finish
code code code

SIS

(U
WO

ALL DIMENSION ARE IN MILLIMETERS(3LAmm 21i)

M3=0.5 NFH NFHS M3 6 8 10 12 15 8 20 25 ! 1.0 48 6 1.25 5.4
Ma4x0.7 NFH NFHS M4 ] B 10 12 15 18 20 25 30 1.0 4.8 6 1.25: 7.2
ME=0.8 MFH NFHS M5 ! B 10 12 15 18 20 25 30 1.0 50 635 | 1.25 7.2
ME=1 NFH NFHS ME ! ! 10 12 15 18 20 25 30 1.6 6.0 7 1.4 79

ALL DIMENSION ARE IN INCHES($3LAZE <] 8{)

J12-40
( #4-40) NFH NFHS 440 4 & =] a 10 12 14 16 ! 042 A1 AT6 | 045 230
3632
[#6-32) MNFH NFHS 632 4 5 (3 a 10 12 14 186 20 042 A37 206 | 045 250
V164
mﬁ;;‘; NFH | NFHS 832 4 s | 6 | 8 [ 10| 12| 184 | 16| 20| .04 163 237 | 045 | 300
190-24
{#10-24) NFH NFHS 024 ! 5 (] ;] 10 12 14 16 20 042 89 256 | 045 300
J80-24
(#10-32) MNFH NFHS 032 !/ 5 [} a 10 12 14 16 20 045 ] 286 | 047 300
=i RIS NFHS 0420 / ! 6 8 | 10| 12|18/ 16| 20| o085 249 3ar | 067 | .80
{#1/4-32)




ZFE#E] SELF-CLINCHING STUDS AND PINS

WE HERS HEERR KERS @ERS 2% 7 INSTALLATION
Type Materiat  Pin diameter  Length Finish \
code code code code L
{ H
S — .
i i
s
NOTE:
With {1} Pin diameter may exceed max. in this region.
;‘;.

B )ELEESEER AR RAE,

ALL DIMENSION ARE IN MILLIMETERS(#3kAmm 1)

3 FH FHS FHA ann 3 a 1012|115 (18| 20| 26 | 30 ! 1 35 5.3 2.3 6.4
4 FH FHS FHA AMNA ! g 10|12 |15 |18 | 20| 25 | 30 | 35 i 11 6 23 7.1
5 FH FHS FHA ShAM {4 8 10 | 1215|118 |20 (25| 30| 35 1 5.5 7.5 | 255 76

Minimum
= E'I-at
F\|lJr'I:-i:1ilJl'n 150 Thic
013 FH FHS FHA 073 4 5 & i 10 ! ! ! ! ! 040 085 15 075 9
084 FH FHS FHA 084 4 § ] & | 10|12 ! ! / f 040 1099 J6 | 085 22
.094 FH FHS FHA 094 4 5 6 a8 10 | 12 ! ! { ! 040 A1 18 085 22
103 FH FHS FHA 103 4 B 6 g | 10|12 i ! ! i 040 d18 .18 | 085 22
106 FH FHS FHA 106 4 5 6 8 10|12 |14 | 16 20 ! 040 125 19 090 22
Me FH FHS FHA 1186 4 5 ] g 101214 |16 | 20| f 040 A37 21 | 090 25
20 FH FHS FHA 120 4 5 1] 8 10 |12 |14 | 16 | 20 | 24 040 A37 21 090 .25
A37 FH FHS FHA 137 4 5 6 g8 10|12 |14 |16 | 20| 24 040 A&7 23 | 090 28
41 FH FHS FHA 141 4 5 6 & |10 12|14 |16 | 20 | 24 040 163 24 | 090 28
60 FH FHS FHA 160 4 5 & 8 10 | 12 [ 14 | 16 | 02 | 24 040 189 26 | 100 28
J6T FH FHS FHA 167 4 5 & g |1w|12]|14 |16 |02]| 24 040 189 26 | 100 28
A73 FH FHS FHA 173 i 5 6 8 |10 |12|14]16 | 02| 24 040 97 .26 | 100 28
207 FH FHS FHA 207 f 5 [ g |10 |12 |14 |16 | 20 | 24 D62 236 a2 | 135 a1
215 FH FHS FHA 215 ! ! I a8 10 |12 | 14 | 16 | 20 | 24 062 250 34 | 135 |
223 FH FHS FHA 223 i ! / g 11214 |16 | 20| 24 062 250 34 | 135 e
273 FH FHS FHA 273 ¥ ! ! 8 10|12 |14 |16 | 20| 24 093 a2 38 | 160 .38
281 FH FHS FHA 281 f ! ! 8 10|12 |14 |16 | 20| 24 093 a2 38 | 160 38




FLEMSE FLUSH-MOUNTED PILOT PINS

@O ...oun

Bs BEKS eSS
Type Thread Shank
code code

HE#l
Punch
| I — /7 IR
o 7
Anvil /
\f“‘é

B, ZELEMSRTEEMaterial,Finish and For J]H
use in sheet Hardness S

TPSRIZ00AGHMENE, FHLEN/WRASTMAIBOMIR, , ERHMER ST/ \FHRB70.
Typs TPS are made of 300 series stainless steelpassivaed,and/or tested per ASTM A330.
For usein sheet hardness of 70 or less on the Rockwell"B"Scale.

ALL DIMENSION ARE IN MILLIMETERS($3kimm 8{i)

4 TPS AWM g 10 12 16 ! 1 45 282 6.12 229 7.1
5 TPS ShM / 10 12 16 20 1 b5 353 719 229 7.6
6 TPS BN ! ! 12 16 20 1 65 424 813 229 T8

M

128 TPS 125 & -] 10 12 ! 040 144 080 205 L60 250
87 TPS 187 6 8 10 12 16 040 205 132 270 060 280
250 TPS 280 ! 8 10 12 16 040 272 AT7 335 060 310




123L1RET CONCEALED-HEAD STUDS

@

Type

Materials #1¥

BIS.606148

Type CHA/CFHA:ALUmMInuUmM 6061
S 300 F 5 AW

Type CHC/CFHC:300 Seriers Stainless Steel

Finishes E
Type CHA/CFHA: FE&None
Type CHC/CFHC:£E{¢Passivation

1BaHs HEtS
Thread Shank
code code

REFEINSTALLATION

L+. 2507/
6.35mm

l‘" TYNVYVYYYY b

062°/1.6 Max

E‘ k ‘n‘hml
o

EéIT:EEiLB‘]iﬁEEEIHStEEHMﬂ&\EEﬁ. {EREHHERERITIMEEN T .

The depth of the blind hole may be deeper than the minimum depth of the plate, but
the fastener shall be installed flush with the plate .

ALL DIMENSION ARE IN MILLIMETERS(#Eimm B8{i)

CHC CHA 1.6 1.1 1.04

M3=0.5 CEHC CFHA M3 G |8 |10f12]|16|20] / EW) 437 191 18 5.21 4.35 4 36
CHC CHA 1.6 1.1 1.04

Max0.7 TFHC A M4 fl 81012162025 54 737 o7 18 B.33 135 56 4.6
CHC CHA 1.6 1.1 1.04

ME=Q.8 CEHC CFHA M5 Pl 1012|1686 | 20|25 24 7.93 o1 T8 B.89 79 6.4 5.6

ALL DIMENSION ARE IN INCHES($3LA3E T 8{i)

t",:f_:‘;f, ;Hff_. CCFHH’: 480 | 4|6 |e|w0|12] x; 172 g:g 3;‘11 e |z e .
T e T e el e e | w [
t';?:i cCchc cc;?n. 832 | 4|6 |8 |10[12]16 $§ 290 :g:g g'_:: 328 | 289 219 1885
onn oo 2 | 1| 8|8 [1w0]12]1—5 a2 0% 10 a0 | ann 250 0




123L1R84H CONCEALED-HEAD STANDOFFS

DS OO

il Zats RS
Type Thread Shank
code code

MNOTE:

(1) Style #1. Minimum thread length is equal to barrel length "L". Screw might not
passthrough shank end. Screws with lengths exceeding "L" should not be used or
theymay cause

“jacking-out" of standoff from the sheet.

(2) Style #2. Screw might not pass through unthreaded end. Screws with
lengthsexceeding “L* should not be used or they may cause “jacking-out” of standoff
fromthe sheet.

{3) Style #3. Blind.

&

1. —AEHLEFLEST, BEEEL.
20EF, aFiEF.

1EAR

ALL DIMENSION ARE IN MILLIMETERS(¥EAmm #4iI)

TG ZEINSTALLATION
T B
C - +8B
% K
Al L —

Style #1
F

RS T
C - B
L §

A’l ! L

Style 43

a— 0

L

Style #2

TYPE CSOS
CS0s %8

of Blind
Hole(4)
vl B 5 . ’ . :
M3x0.5 CS0S M3 4 6 a 1071127 | 167 | 207 | 26 EY) 5.41 197 5 183 42 | 539 | 635 4.8
Css m 0 a | 10F 4 " " = 1.6 1.1 1.04
Max0T Cs0S M4 4 i} 8 —‘—'_l o 127|167 | 207 | 25 34 792 1.91 6.5 183 623 | 79 | 874 6.4
CSS ' ! 1 . = . 1.6 1.4 1.04
i : 3 ; 4 . T.37 T T
MS=0.8 508 M5 4 6 g" | 107|127 [ 167 | 207 | 28 54 8.7 197 9.6 153 3 872 | 953 2
MG Cs0s ME 47 | 8" | 8" | 10® [ 127 | 167 | 207 | 257 24 e 1.91 9.6 1.83 9 989 | 11.11 i

iy o] a0 | 3|4 |5 | 6" [ & 107|127 16" 202 213 i g8 o2 es | 212 | 250 | s
'&?;35 CCSS;S 632 34" | 87| 6| 8 | 107|127 167 :gz 290 g;: 250 :g:; 213 | 289 | 312 219
Itl#%f?z? CCSSS’S gaz |3 | a4 | 5 | 8% | & | 107 [127 | 16° :g:; 312 g‘;: 250 :g;; 245 | 311 | 3aa | 280
[';fgjzzl S8 oo | a4 |5 [ e | e 107|120 16" 222 244 L ars () 290 | 343 | 375 | 281
qfi?—_:ci CCSSOSS o420 | 37| 4" [ §" | 6" | 8 [107 127|167 :ggi 390 g;g 375 :g?; 354 | 389 | 438 375




FRIRE SEAI NUT

ITR ITS

_—1
P

ITR-M3-10

M3x0.5 mR ITS M3 68101215 2025 5.0 6.5 1.0
Ma=0.7 TR ITS M 6810121520 25 6.0 15 1.0
M5=0.8 MR (1] M5 1012 15 20 25 7.0 8.5 1.0
MMEx1.0 MR ms M6 12 15 20 25 8.0 e 1.0

NOTE:
we can produce other size and special shape products
according to the customer's requestsoutside this table,
Material ; Stainless steel, low carbon steel, copper,
aksminum |

=it
ARESFPREEER SRR T RSRER eSS

ﬁ\?‘
BRI, ERR. 6. 8.

iz

M

2dk

NOTE:

we can produce other size and special shape products
according to the customer's requestsoutside this table.
Material : Stainless steel, low carbon steel, copper,
aluminum |

i

ENRIEE P W A F SR T R SRR DA RS g
£

REARIR. ERR. 6. 8.

#E5-32 ITR TS 632 236, 315, 394, 472, 590, .7T87. 984 A7 | 266 | 035
#8-32 ITR TS 832 236. .315. .394. AT72. .590. .787. .984 .236 | .285 | 035
#10-32 ITR IE] 032 394, .472. 590. .787. .984 276 | 335 | 038
1/4-20 ITR ITS 0420 AT72. 580. 787. 984 415 | 374 | 035

PT-M3-10

M3%0.5 PT PTS M3 68101215 16 18 20 25 30 35 40 45 50 45 09
Max0.7 PT PTS M4 681012151618 20 25 30 35 40 45 50 55 09
ME*0.8 PT PTS 15 68101215 16 18 20 25 30 35 40 45 50 65 1
MEx1.0 PT PTS ME 810121516 18 20 25 30 35 40 45 50 7.5 1
MEx1.25 PT PTS M8 1012 15 16 18 20 25 30 35 40 45 50 9.5 1.1
M10x1.5 PT PTS M10 1012 15 16 18 20 25 30 35 40 45 50 1.5 1.1
MI2=1.75 PT PTS Mi2 15 16 18 20 25 30 35 40 45 50 135 11
UINT:inch

o | o | e | e [ N6 B A0 I |
RS T e
s | B | s, || aaw, | [Bmte e SR B BB B e | e
L= il AR s ‘951\51\‘1.3?1.1Ig;.{‘s?a?oz.‘.?%si?g‘?ﬁ;a 2205 ik L
siots | o | s | e | BEARmem o o | g [ o
e | | s | o | ph A em s T e | o
1/2-13 PT PTS 0813 590, .629. .707. .7B7. 53 043

_29_




Z{EFRHESNAP-TOP STANDOFFS

@ @ o REFEINSTALLATION

s L=Ea = HERS
Type Thread Shank
code code
E#HL Mounting Hole Edge
Punch \ -
“
[ ]

- m -
| |
i i 5 L) 1 2 5
Anvil
L+.200"/ il T
5.08mm
i .. l. 151 8
A - Terancecl
216-.219"/ MountingHole B
5.49-556mm
SSA S5S5 55C
B} L
C
H !

ALL DIMENSION ARE IN MILLIMETERS(#Amm 1)

IRILRTHS I

=

E=l ma sl Hle

Top Panel Haole th In Millimeters
de

Alurrsiniurm

S5A 555 55C anin 8 10 12 14 16 18 20 22 25 4.78 5.38 358 6.35

554 555 S5C 156 B 10 12 14 16 18 20 24 28 32 .188 2 a1 250

sss 5.41 HRB60 1 66 0,13 4 PC BOARDOR 1-1.8 254
SSC HRE70 METAL | NOUMT

0.40-070 A0o0

S85 +.002-000 METAL HRBEO 040 260 +005 156 NO LIMIT

_30_



EfI5ZiEH KEYHOLE STANDOFFS

@ o REFEINSTALLATION

ns Bats HIBLS
Type Thread Shank
code code
I ¥
Punch
anel 1
ol L+1257
Anvil 11 33mm
Z i
D

Edge_ mounting Hole A |

1€

300 R 5 A 558
Material:300 Series Stainless steel L L Alfisd Neoummg st A3Dia
FMEAIE:FEEFA]/THEASTMAZBOM L _
Finish: Passivated anc /or tested per ASTM A380 B[ ‘ | |
—#
A

ALL DIMENSION ARE IN MILLIMETERS(#3kAmm (i)

ER B C S M

L+0.13 Length in Milimeters +0.08 +0.08 Max

SKC 61.5 5] 8 10 12 14 16 18 20 22 25 25 4.5 5.38 1.72 275 6.35 55

SKC 541 HRETO 1 6.6 013 15 3 5 3.75 |PC BOARDOR| 1.45-1.62 41




BEAIRS8H BLIND THREADED STANGOFFS

@ @ o @ HRFEINSTALLATION

B= L=argivi=y MBS EENS
Type Thread Shank Finish
cade code code
T
Punchy
-3
L Mird Anvil
7
/
1
e [

+. 006" /0.15mm
+, 003" /0.08mm

F
NOTE: ._5
We can offer hard through hole standoffs (BOS4) for press fitting of stainless steel T OO \\\\
plates Calculation methad of actual length of imperial stud Actual length (L)= length c [ | N
code (L}/32X25.4 *

=iE
BT ESHET FEREEEEERILESRE (BOSHEFIFR, L
R A, RIFEE (L) =ESS (L)/32x25.4 H

ALL DIMENSION ARE IN MILLIMETERS(BLEAmm 84f) ALL DIMENSION ARE IN INCHES(# 515 84)

q

M -EII:FI

35 M3 1.00 5.40 538 6.35 i1 6440 .040 213 212 250 28
[ 1.30 6.00 5.98 7.0 75 632 040 213 212 250 2B
3.5M4 1.30 7.20 712 2.0 8A 2632 050 281 280 = 33
M5 1.30 7.20 712 8.0 8.4 832 050 281 280 312 33
ME 1.30 8.75 8.72 10 3 032 050 281 280 312 33

ALL DIMENSION ARE IN MILLIMETERS({9klmm &{ir)

M3=0.5 B3O BSOS BS0A 3 2“:43 L] 8 10 12 14 16 18 20 22 25
M4
Ma=0.7 BSO BSOS BSOA 3502
VIE%0E 850 BSOS SS0A M5 ] 8 10 12 14 16 18 20 22 25
MEX1.0 BSO BSOS BS0A ME
FDIMENSION MIN FgR 3.2 4 5 6.5 9.5

ALL DIMENSION ARE IN INCHES({3LI2E 81{l)

Lk
B Thread
Alumninium 500

A12-40 440

(#4-40) BSOD BSOS BS0A 5440 10 12 14 16 8 20 22 24 | 26 28 30 | 32 34
138-32 632

(#6-32) BSO BSOS BSOA B632 10 il 14 16 18 20 22 24 26 2B 3 32 34
[‘::-_gg] BSO BSOS BSOA 832 10 12 14 16 18 20 22 24 26 28 30 32 34
190-32

(#10-32) BSO BSOS BSOA 032 10 12 14 6 8 20 22 24 | 26 28 30 | 32 34

FDIMENSION MIN FiRhR~ 156 187 250 378




EfLEFRE8HETHRU-HOLEAND THREADED STANDOFFS

DO OO

BISFIME
Type And
Material

LEFEINSTALLATION
- toggn = EERR BEMS
Thread Length Finish
code Code code /___,_,__‘_{:2
‘ PUNCH
bl B e—

N N

INSTALLATION
P ’/;\‘\
| A
I\ )

H

e In Milimetars

MNom

M3 1 4.2 418 475
M3=0.5 500 5008
3.5M3 1 5.4 5.38 6.35
M4 1 6.0 5.95 T
M4=0,7 S00 S008 4 6 7 B 9 10 12
3.5M4 1.3 Tk 7.11 a8
M520.8 800 5005 M5 1.3 Tid 711 a
ME=10 s00 5008 ME 1.3 8.75 872 10

ALL DIMENSION ARE IN INCHES (3155 8)

BS Type

nds Of An Inch

H
Mom

112-40 440 040 J66 165 J87
500 5005
[#4-40) G440 040 213 212 250
138-32 632 040 213 i 250
500 5005
[#8-32] 8632 050 281 280 215
4 6 8 10 12 14 16
164-32
S00 S00S asz 050 28 280 A5
[#a-32]
.190-32
500 5008 032 050 281 .280 215
[#10-32]

_33_




EfR8H THRU-HOLE THREAD STANDOFFS

B
Type

NOTE:

‘We can offer hard face standoffs (S04) for press fitting of stainkess steal plates

=ik

BATELRMET FERERIE RS (S04) FFIFER

ALL DIMENSION ARE IN MILLIMETERS(#liimm 8{7)

sEafs
Thread
code

MBEAs
Shank
code

#BEMNS
Finish
code

REFAEINSTALLATION
!
EH
Pun
[ i Pl
]
T
=Y |7
| "
L
1
D
g A, l
S| IEm 1 o

ALL DIMENSION ARE IN INCHES (£33 <1 #1i)

kA3 4.20 ¥ 4.18 4.75 6 J 3 3 =
3.5 M3 1 540 a2 5.38 6.35 7a 65440 040 213 212 250 28
hid 1 6.00 4.2 5.98 7.0 7.5 632 040 213 212 250 .28
3.5M4 1.27 7.2 4.2 712 B.0 8.4 8632 050 281 280 312 33
M5 1.27 7.2 5.2 712 B0 8.4 832 050 281 280 312 33
MG T2 8.75 6.3 872 10 13 032 050 281 280 312 33
ALL DIMENSION ARE IN MILLIMETERS(#Eimm {d)
M3=0.5 =0 308 S04 3’:;3 3 4 ] B 10 12 14 16 18 MIA | NA | MNAA
M4x0.7 b=
i S0 SOS SOA 3.5M4 3 4 6 8 10 12 14 16 18 20 22 25
M5=0.8 M5
D Dimension+0.25 DR<+0.25 MNone(7E) 4 8 11
ALL DIMENSION ARE IN INCHES (3438 8{)
A12-40 440
(#4-40) S0 508 SOA 440 4| e 8 |10 |12 |14 |16 | 18|20 | 22 | 24 [ WA | N/A | NA | WA | N/A
138-32 632
(#6-32) 50 S0s S0A 9632 4|86 8|10 |12 |14 |16 |18 |20 |22 )24 |26 |28]31 32|34
164~
(#8.32
19032 50 505 S0A 4|86 g 10|12 |14 |16 |18 |20 | 22|24 | 26 |28 | 31| 32 | 34
(#10-32) S
D Dimension+0.010 DR<+0.010 None(7) 187 312 437

_34_



EiIRE8H THREADED SANDOFFS FOR THINSEET

@ @ o @ REFEINSTALLATION

B= Ltargpvi=y MBS EENS
Type Thread Shank Finish
code code code //.// Style #1
NZBRZ
wi | P
Anvil % %
Z Z
Z

NOTE:
Style #1.Thru-threaded. L | "
Style #2.5crew might not pass through unthreaded end. Tapped to minimum fullthread depth shown.,

Incomplete threads on tap may allow screw to pass through.

Style #38lind. R

Standoffs with thread codes 6256, 6440, 6M25 and 6M3 offer oversized body forincreased ‘_'l’

bearing surface, wall thickness and performance, w%
it [

iBTFLIRF IH
EFLAF

=il L -1
6256,6440,6M25F6MIMN RS HSH DA R Mg HE L
ALL DIMENSION ARE IN MILLIMETERS(#Eimm S4) ALL DIMENSION ARE IN INCHES [#R13E T R{)

063 4.2 52 i 200
6M25 0.63 5.4 5.32 ) 6.4 Tl 6256 025 213 212 i 250 27
M3 063 4.2 419 62 4.8 5.8 440 025 166 165 200 187 23
EM3 063 5.4 5.39 6.4 7.1 6440 025 213 212 i 250 AT
M35 0.63 5.4 5.39 7 6.4 7.1 632 025 213 212 270 250 27

ALL DIMENSION ARE IN MILLIMETERS(HElmm 1)

M25x 045 | TSOA TS0 TSOS o 200" | 300" | 400" | so0" | goo* | 1000” | 120" | 1400” | 1600" | 1800" | 1900°
M3xD5 | TSOA TS0 TSOS 3::2“. 200" | 300" | 400" | e00" | 800" | 1000° | 1200" | 1400* | 1600” | 1800” | 1900"
M35 = 0.6 TSOA TS0 TS05 M35 / 300 400" 600" 800" | 10007 | 12007 | 1400™ | 16007 | 18007 | 1900°
ALL DIMENSION ARE IN INCHES(SJL3 £12)
DB6-56 256 z ; E ¥ . =
= = . ; : : : ; .
[#2-56) S0, S0 TSOS E256" Qo0 125 187 250 N2 375 437 500 562 625 68T TS0
11240 240 , . ; . . , B § N =
{#4-40) TS08 TS0 TSOS B440" [Wi=u 125 187 250 312 375 437 500" 562 625 6ET 750/
138-32
c#?;] TSOM TS0 TSOS B3z ¢ | 125" | 187 | 280" | 312" | ars* | 437" | so0” | se2* | 625" | ea7* | 750




¥ AMREH THRU-HOLE UNTHREADED STANDOFFS

#BEMNS
Finish
code

B
Type

ALL DIMENSION ARE IN MILLIMETERS(#Eimm 24d)

sEafs
Thread
code

HBEAS
Shank
code

REFEINSTALLATION

C

+.004"/C.1Tmm
+.007°/0.18mm

L Min

ﬁ

//////}

z
&

H

ALL DIMENSION ARE ININCHES (BIlA3E < 8 i)

43.1 1.02 4.2 419 4.8 6 p g . a

631 1.02 5.4 539 | 635 6.8 6116 040 213 212 250 27
636 1.02 5.4 539 | 635 6.8 6143 040 213 212 .250 27
83.6 1.27 7.2 712 8.0 8 8143 050 281 .280 312 31
4.1 1.27 1.2 712 8.0 8 8169 050 281 280 312 31
85.1 1257 7.2 712 8.0 8 8194 050 281 280 312 31

Alurminiurm

n Milime

31 S0 s0s SOA So4 ggq 4 5 8 10 12 14 16 18 20
536
36 50 50s SOA sS04 228 4 & 8 10 12 14 16 18 20
4.1 84.1
4
= S0 508 SOA 50 == 4 6 8 10 12 14 16 18 20

ALL DIMEMSION ARE IN INCHES( ki3] 8{i)

411
18 SO 508 SOA S04 6112 4 a8 10 12 14 16 18 20 22 24
143 so | sos | soa S04 g}j: 4 8 10 12 14 16 18 20 22 24
69 8169
SO S05 SOA S04
e s 4 8 10 12 14 16 18 20 22 24




EiiRgE GROUNDING STANDOFFS

D D O

ne Bafs eSS
Type Thread Shank HEFGZEINSTALLATION
code code s
oty Tamis

8¢

M3x0.5 S0SG S0AG 3.5M3 3 4 6 8 10 12 1 5.4 539 | 64 076 6.8 55

112-4
11# ﬁ 4001 SOSG | sSoAG | 6440 | 4 | 6 | 8 |10 |12 | 14 | 16 | 040 213 212 | 250 | 030 | .27 216
{L?i;;; SOSG | SoaG | B632 | 4 | 6 | 8 | 10 | 12 | 14 | 16 | .050 281 280 | 312 | 030 | .31 284

E7iR84 CONNET’ RWARE FASTENERS

@ @ @ REFEINSTALLATION
&)

B Lootagad=s HtERS 77z
Type Thread Shank

code code nu i F

Al —

ol =

Min
l L
NOTE: We can also produce other size of embossed standoffs according to customer

requirements.
R LR EE POE R E R T HEN R R

ALL DIMENSION ARE IN MILLIMETERS(3Amm #1i)

H
Mom

M3=0.5 Dso Ds0s M3 0.94-6.35 4.2 419 492 32

H

MNom

Dso DSOS 440 037-025 166 165 94 126

_3_{'_



PCBIi /iR SURFACE MOUNT NUTS AND SPACERS/STANDOFFS

TSI SRy EER 241
Type And Thread Length Finish TR ZINSTALLATION
Material code Code Code SMTSO/SMTSOB
N
i 2l o IRt
WarR~080, 51, 51.2,
rf% E _I: $1.4 and M1.6 " l
N Thread sizes:080, S1, 1_
| \\“’/ J —l 51.2,51.4 and M1 6 A L
WL R~ 2-56, 4-40,
H — 6-32,8-32, 116, 143, M2, M2.5, m
M3, M35, M4, 31, 3.6, and 4.2 RMLAE
Thread hole sizes:2-56, 4-40, r
Stencil Masking Examples 6-32, B-32, 116, 143, M2, M2.5, c
. OO 0 % ﬂ ‘{?Eﬁ DG Dﬂ M3, M35, M4, 31, 3.6, and 4.2 J_
266 W W Vcd 9 |
NOTE:
—ﬂr| @H }'ﬂ— Standoffs are available on special order without a pilot that do not require a thu

hole for installation.
&HiE:

ALL DIMENSION ARE IN INCHES(3LAZ T 84i) RESHTE, TRUFESHBNLE, CRMFBEETN,

15

of an i
BB - SMTS0 = 08O 2 4 020 019 0a5 144 165
(#0-80) z : - - | gz 098
.086-56 M n
i - sMTSO | swmTsos | 256 2 4 | 8 | 12 | oe0 |o60|.a2| - |29 - 147 244
—
'['# s ;;: 5 SMTSO | SMTsoB | 440 2 4 | & | 120 | o0 |oe0|a61| - |2:8| - 166 244
13832 - .1. i _
(#6-32) SMTSO SMTSOB 632 2 4 a 12 060 060 | .208 23 213 306
::;:22] SMTSO | SMTSOB | 832 2 4 &8 12" 060 | 060 | 245 | - | 344 - 250 360
= 116 SMTSO SMTSOB 116 2 4 3 12 060 060 | 161 o 219 i 166 244
- 143 | SMTSO | SMTsOB | 143 2 4 8 | 12 | 060 |.060].208] - |.281 | - 213 306

ALL DIMENSION ARE IN MILLIMETERS(#EAmm B{i)

11213 7

51.2 = SMTSO - M1.2 s 0.5 048 | 241 | 366 | - 3.18 25 419
51.4 - SMTSO E M1.4 - T | 0.5 048 [ 241 | 366 - 3.18 256 419
M1.6 =% 035 = SMTSO = M1.6 1 21 3] = L 5 = 0.5 048 | 241 | 366 b 318 2.5 419
M2 x 04 - SMTSO | SMTSOB M2 -l2]3]a"[6"[8"[10"] 153 153 | 36 = 556 = 373 6.2
M2.5 %0.45 - SMTSD | sMTSOB M25 -lzls|a"|e"|[8" 10" 153 153 | 400 - 5.56 = 4.22 6.2
M3 = 0.5 2 SMTSO SMTS0B M3 -2 3|4 [6"]8"]10" 1.53 1.53 | 4.00 = 5.56 = 4.22 6.2
M35 = 06 - SMTS0D SMTSOB M35 -J2 |3 [4"[6"]a 10" 153 153 | 5.28 = 714 = 5.41 T.IT
M4 = 0.7 = SMTSD | SMTSDB M4 -l2]3]aj6]|ea]i0 153 153 | 6.22 = 8.74 = .35 9.37
- 31 SMTSO | SMTSOB 3.1 -l2]a3a]al6]&a]io 1.53 1.53 | 4.09 - 5.56 - 4.22 6.2

- 36 SMTSO | SMTSODB 36 -]J2]3]4][6]8]10 1.53 1.53 | 528 - 7.14 - 541 .77

- 4.2 SMTSO | SMTSOB 4.2 =]l2]3]4|6|@a]r0 153 153 | 6.22 - [ 874 = 6.35 9.37

A polyimide patch is supplied toallow for reliable
vacuum pickup.Fasteners are also available withouta
patch which may provide a lowercost alternative,
depending on yourinstallation methods/reguirements.

4

= 3500 /8 . 2000 /8 = - = =
256,440,632,116,143 - 1500/ 12 - 1000 £ 12 - 650 /12 - 300/16 FEEMBETHEEANES, TRERNS R/ ERES
832 - 1100/ 16 - 800 /16 = 500/ 16 = 300416 EEEENER .
M1,M1.2M1.4M1.6 3500/8 2500 /8 | 2000 /8 - = = - -
M2 M25 M3M35,3.1,3.6 - 1800/12 [ 1000412 | 900/12 | 650/12 | 375/16 | 300/16 -
Md.4.2 = 1100/16 | 800/16 | 675/16 | 500/16 | 375/16 30016 =

Packaged on 330 mm recyclable reels. Tape width is 24 mm. Reels conform to EIA-481.
BRFEBEXOUEYEEL. BREER2 mm, SRFGEIA-481, QREIWALTEMEEL., BREER2A mm, SRFGEA-481,

_38_



NAZEREHE HEXAGON PILLAR STANDOFFS

FAPHE! (SBE!)

scc I v Q15 J 6

REFEINSTALLATION
Fhaga BEL SMRBHRL2
Typology External High Male Thread
Thread Degree L1 Length L2
NOTE:

To avoid the risk of external thread breakage, M2 M2.5 M3#2-56 #4-40 series do not
add the rebate groove,

i
A IMEAERRFMRE, M2 M2.5 M3,#2-56#4-40 EFIFIETIHE .

ALL DIMENSIONS ARE MILLIMETERS (R 8{i:%:X)

]

Aluminiuem
SBB SBS SBC SBA M2*(L1)+4 M2°0.4 M2°0.4 3 6-50 4 4
SEB SES SBC SBA M2.5*(L1}+5 M25*0.45 M2.540.45 a7 B~50 5 5
SEB SBS SBC SBA M3*(L1)+6 M3*0.5 M3*0.5 47 9-100 & 6
SEB SBS SBC SBEA MA*(L1]+8 M4*0.7 M4*0.7 & 12-150 8 8
SEBB SBS SBC SBA MS*(L1)+10 M5*0.8 MS5*0.8 i) 15~150 10 10
SBB SBS SBC SBA ME*{L1)+12 ME*1.0 ME*1.0 8 16-150 12 12
SEB SES SBC SBA MB*(L1)+16 MB*1.25 M8*1.25 1" 22~150 16 16
SBB SBS SBC SBA M10*(L1]+20 M10*1.5 M10%1.5 13 30-150 20 20

ALL DIMENSION ARE IN INCHES (¥ 84l)

Morm
Aluminium
EEB SBS SBC SBA 256%(L1)+.156 #2-56 #2-56 187 .250~1" 156 156
SBB 5BS SBC 5BA 440%(L1)+.187 #4-40 #4-40 87 .250-2" 187 A87
SBB SBS SBC SBA 632*(L1)+.250 #6-32 #E-32 250 .340~2" 250 .250
SEB SBS SBC SEA 832%[L1)+.2580 #8-32 #B-32 250 340~2" 250 250
SBB SBS SBC SBA 0420%[L1H+.375 1/4-20 1/4-20 375 .500-4" a5 375
SEE SBS SBEC SBA 0518%(L1}+.500 5/16-18 5/16-18 500 625~4" 500 500

_39_




FUEE (SNE)

Eis PISRLL

Typology

Female
Thread

=

Alurmiriunm

L3

RRFEINSTALLATION

him

M2(11) 1 J

SNB SNS SNC SNA M2*(1)-4 M2*0.4 2 3 >12-20 4
M2-1)-4 3 >20 4

M2.57(11) 1 5-12 J

SNB SNS SNC SMA M25%(11)-5 M2.5%0.45 2 a7 >12-20 5
M2.5*(1)-5 3 >20 5

M3*(11) 1 616 J

SNB SNS SMC SNA M3*(1)-6 M3*0.5 2 47 >16~-20 6
M3*{1)-6 3 =20 3]

M4*(11} 1 6-18 ]

SNB SNS SMC SMA Ma=(1)-8 M4*0.7 z 6 >18-25 ]
MA=(1)-8 ) >25 ]

ME*(11) 1 8-22 /
SNB SNS SNC SNA M5*(11)-10 M5*0.6 F 7 =22-30 10
M5 (11)-10 3 =30 10

MG (1) 7 10-25 7
SNB SNS SNC SNA ME*(1)-12 ME*1.0 2 8 >25-32 12
ME*(11)-12 3 >32 12

MEIT) 1 12-32 ]
SNE SNS SNC SHA ME“(I1)-186 ME*1,25 2 " >32-40 16
MB*(1)-16 3 >40 16

MI1GF() 1 15-40 ]
SNB SNS SNC SMA M10*(11)-20 M10*1.5 2 13 >40-45 20
M10°(11)-20 E] =45 20

ALL DIMENSION ARE IN INCHES (125 847)

=

s

Marm

L3

Mirm

Alurminium

256*(L1) 1 156-.5 /
SNB SNS SHNC SNA 256%(L1)-.156 #2-56 2 187 > .5~75 212
256%(L1})-.156 3 =75 212

440°(L1) 1 J87-625 !

SNB SNS SNC SNA 440°(L1)-.25 #4-40 2 187 >,625~.75 25
440%{L1}-.25 3 >75 25

632*(L1) 1 25~.625 !
SNE SNS SNC SNA 632*(L1)-281 #6-32 2 216 >625-75 281
632*(L1)-.281 3 ».75 .281

B32*[L1) 1 ] f
SNE SNS SNC SNA 832*(L1)-313 #8-32 2 25 >.75~1 313
832*(L1)-.313 3 =1 313

0420%(L1) 1 375~1 [

SNB SNS SNC SMA 0420*(L1)-5 1/4-20 2 375 >1-1.25 5
0420*(L1)-5 3 *1.25 S5

0420*(L1)-5 1 5-125 !
SNE SNS SNC SNA 0420*(L1)-625 5/16-18 2 e >1.26~1.5 628
0420%(L1)-625 3 >1.5 625

_40_




AFaEKRER DIN & SRARE-16903%75
DIN INSERTS FOR OVERMOULDING
-16903 SERIES

Insert to DIN 16903 standard for overmoulding use in plastics. All size varationsare
possible on request.

BAHFE DIN 16903 #7fl, SR TREEENE ., MARTERSRHRERREM.

16903 %%I-A B SERIES 16903-TYPE A

104

M2.5 38 34 26
M3 42 38 3
M4 55 5 4
M5 T 6.4 5
M6 8 7.4 6

16903 #%-C & SERIES 16903-TYPE C

Ma

10.4

M2.5 38 34 0.8 4 38
M3 4.2 38 1 4.5 4.2
M4 55 5 1 B 5.5
M5 T 6.4 1 1.5 7
M6 8 7.4 i 9 8

Typa A

TypeC

d




16903 #%I-P ® SERIES 16903-TYPE P

M4 6 5 4 7

M5 7 6.4 5 8.3
M6 9 7.4 6 9.8
(VE 11 10.4 8 12,6

Thread

d5

16903 #%I-Q & SERIES

d3

16903-TYPE Q

M2.5 38 34 2.6 46
M3 4.2 38 3 55
M4 5.5 5 4 T
MS 7 6.4 5 83
M6 8 7.4 6 9.8

16903 ®&%I-R & SERIES 16903-TYPE R

MS T 7 1 7.5 108
M6 9 8 1 9 128
Ma 1" 10 1 12 166

M2.5 3.8 3.8 0.8 4 6
M3 4.2 4.2 1 4.5 T
M4 55 5.5 1 6 9
Ms i 7 1 7.5 108
Mé 8 8 1 9 128

Type Q

ds

L1
R
e L4
dsL e
L2
Type s
L4 ,
E —
dé /
\ R ogygreeey, 49
bZ—H—E‘
L2

MHEMERmLEE MATERIALS AND FINISH

== vl ] 8
Brass as standard Plain
THREE SRR S E R I E e
Other miaterials and finishes on request Micked-plated

_42_



R EIRET PANEL FASTENERS
PFO9,PF10

@ @ o @ REFHZEINSTALLATION

BEHHHE Bats s STRE
Type And Thread Shank Finish

Materia code code < /J—T B S"‘"

12 )

= N

o

Lo
N

PEO9 Knab:Alumminur PEOO BE4H:4E .
PF10 Knob:300/303 Serles Stalnless Stee PF10EEE:300/303RFIFiHIA

Fermule:300/3035eres Stainless Steeli)EE:300/303 F#57F 85N

Screw:300/304 Series Stainkess Steel $5:300/304 257858

Spring:300/304 Senes Stainless Steel32BH:300/304 25 F556]

ALL DIMENSIONS ARE MILLIMETERS(R < 84 : % %)

=,
B
Minirmm

Mam

o] 1.0 10 4 398 04 5.0 14,5
M2.5%0.45 | PFO9 FF10 M2.5 1 15 15 4 398 | 04 60 | 155 | 134 7 # 0.8
2 25 2.5 4 398 08 7.0 165
:
b 0 1.0 1.0 45 448 | 04 55 | 144
Fé M3x0.5 PFO9 /] M3A 134 | 75 #2 i
1 20 2.0 4,5 4,48 0.4 6.8 158
0 1.0 1.0 45 448 | 04 53 | 148
M3=0.5 PFO9 PF10 M3 1 15 15 45 448 | 04 63 | 158 | 134 80 #2 0.8
2 25 25 45 448 | 08 7.3 16.8
Ma=0.7 PFO9 PF10 M4 0 15 15 45 55 0.8 a5 | 183 | 135 10 #2 1.0

_43_



FEEIRIRET PRESS-IN STYLE CAPTIVE SCREW
PF11,PF12

@ @ o @ B ZINSTALLATION

BS RS SRET IS R
Type Thread Screw Finish
code Length Code
Code

HEMREELE
Materials and Standard Finishes

SEET:300EEA00 RFIFHW, ik

Screws300 or 400 Series Stainless Steel Passivated
BEER:S, 8

Knob:Aluminum,natural Finish

HIEE LR PAERS

Retainer: Hardened Carbon Steal

EE00FF TR

Spring:300 Senes Stainless Steel
SR ST T

HRB208orass on the Rockwell "B"Scale

T

+0.10 MNam

0 4.32 0
M3x0.5 P11 P12 M3 1 0.92 0.92 556 554 | 10.59 | 584 | 152 | 787 | 1143 #1 .1
£ 2 7.37 3.05
g 0 584 0
Bl Masx0e | eF11 PF12 M35 1 092 0.92 6.35 633 | 1143 [ 737 152 | 11.43 | 16285 #2 7.37
B 2 889 | 305
= 0 5.84 0
Mdxi. 7 PF11 PF12 Ma 1 092 0.92 7.92 79 | 1306 | 7.37 152 | 11.43 | 1628 #2 8.38
2 889 3.05
0 5.84 0
MEx0.8 PF11 PF12 ME 1 092 0.92 7.92 7.9 13.06 | 737 152 | 11.43 | 1626 #2 B.38
2 889 3.05
0 737 0
MEx1 PF11 PF12 ME 1 092 0.92 953 95 | 1461 | 883 | 152 | 1346 | 2007 #3 11.68
2 1041 | 305
112-a0 g UL L]
(#4-40) FF11 PF12 440 1 036 036 219 218 A7 230 06D A10 A50 # 280
2 290 | J20
138-32 o e L
(#6-32) PF11 PF12 632 1 036 036 250 249 | 450 [ 200 | 060 | 450 | &40 #2 .290
= 2 350 | 20
S| qea-32 0 230 | .oo0
E (#3-32) PF11 PF12 832 1 036 036 a2 311 514 | 200 | wo60 | 450 | &40 #2 330
] 2 350 | az20
= ae0-a2 o e L ok
(#10-az) | PF1 PF12 032 1 036 036 312 a1 514 | 200 | 060 | 450 | .640 #2 330
2 350 | 120
250-20 0 290 | 009
PF11 PFi2 0420 1 036 036 375 374 | 575 [ 350 | o060 | s30 | 790 #3 AB0
(et 2 410 | a20

_44_



AkHITV R E1RE] PANEL FASTENERS
PF11MF,PF12MF

=
Type

Bs

Thread
code

IBFTER
Screw
Length
Code

LoD
Finish
Code

RRSGZEINSTALLATION

Knob:Aluminum HE:48
RetainerAluminum MEFE:S

Screw:300 or 400 Saeries Stainless Steel
Hardened Carbon Steel

B NS

R4T:3003EA00FF AR

Spring: 300 Series Stainless Steel

W :I00 F5 W

ALL DIMENSIONS ARE MILLIMETERS(RT&{i:2%)

(5 03N

0 4,32 5]

M3x05 | PFTIMF | PE12MF M3 1 1.05 0.79 475 473 10.59 5.84 1.40 7.87 11.43 1
2 7.37 292
0 5.84 0

Max0.7 | PFTIME | PE12MF M 1 183 1.52 676 6.74 13.06 7.37 0.61 11.43 16.26 #2
2 B89 213
0 5.54 0

MSx0.8 | PF1IMF [ PF12MF M5 1 1.83 1.52 6.76 6.74 13.06 7.37 0,61 11.43 16.26 #2
2 £.59 213
0 7.37 0

MBx1 PFIIMF | PF12MF ME 1 1.83 1.52 8.2 818 14.61 8,89 0.81 13.46 2007 #3
2 10.41 213

(2NN

ALL DIMENSIONS ARE IN INCHES(R < 8{i:3)

Mam

112-40 0 170 000
t#a-qp) | PFVIME [ PRI2MF 440 i 041 031 187 186 417 230 055 310 450 #1

2 290 115

.138-32 o 230 000
(#6-az) |PF1IMF [ PF12MF 632 1 072 060 23 212 450 280 024 450 B40 #2

2 350 084

164-32 0 230 .000
(#g-az) | PFTIMF | PRI2MF 832 1 072 060 266 265 514 290 .024 A50 640 #2

2 350 084

190-32 0 230 000
(#10-32) | PF1IMF [ PF12MF 032 1 072 060 266 265 514 2890 024 450 640 4

2 350 084

.250-20 0 290 000
(-0 |PFIIMF [ PFI2M 0420 1 072 060 323 322 575 350 .024 530 790 #3

2 410 084

_45_




3 B IR ETFLARE-MOUNTED, FLOATING CAPTIVE PANEL SCREWS

PF11MW,PF12MW

BHe HEAH BN wEHRRERE
Type Thread Shank EHE Optional Dura
Code Code Screw Blackfinish

Length Code

Knob: Aluminum KFE: 8
Retainer: Auminum W#E: 2

RRFZEINSTALLATION
. : T -

| i
! !
T
1 :|
& Al (B |
L ?ﬁ 6
j—[ N |

_*_ Din'PIes on heéd

)_ W __‘;E designate metric thread,

Screw: Hardened Carbon Steel $85T:  MEEER

Spring: 300 Serles Stainkess Steel ¥#E: 304FER

PF11MW PF12MW 3
Knured Cap Smocth Cap Washer: 300 Series Stainless Steel 2#: 3007 HWFRF|
HTEE e Finish:Knob: Natural Finish §7i: &

Retainer: Natural Finish S08: 3£

ALL DIMENSION ARE IN MILLIMETERS(¥EAmm 24i)

1 0.64mm Narm.

(SLEPROM R T A IR

g ™
| 3 Philips driver size.

; (+PRETRT)

M3 x 0.5 | PFTIMW [PEIZMW| M3 | 1 . 16 |282| 635 | 1059 [~ | 952 | 348 | 323 | 747 1143 | # 1.85 7.92
E i
=z 1 7.37

S M3S x 0.6 PFUIMW [PFIZMW | M35 [ 1 : 16 202 709 | 1143 [Fo) 1049 | 378 | 323 | 1143 | 1626 | #2 193 874
g |
= 1 7.37

M4 x 0.7 |PFTIMW [PEIZMW | M4 | 1 > 16 |307| 879 |1306 [ 1191 | 399 | 356 | 11.43 [ 1626 | #2 193 10.34
1 7.37

M5 x 0.8 | PF1IMW [PF12MW| M5 | 1 = 16 | 307 | 879 1306 [o"] 1191 | 399 | 356 | 1143 | 1626 #2 193 10.34
1 8.89

MBx1 |PF1TMW [PF12MW| M6 | 1 - 16 325 1049 | 1461 [ooom] 1348 | 399 | 356 | 1346 | 2007 | #3 2.06 11.89

ALL DIMENSIONS ARE IN INCHES(R < 8{i:3)

ahiE

L
Min Mam Min Tc
Float
A112-40 1 230
(#4-40) PF1TIMW [ PF12MW | 440 1 063 a1 250 AT 375 A37 27 310 A50 #1 073 312
= 2 290
=
A| 138-32 1 290
=] (# PFTIMW | PF12MW | 632 1 063 Ca T .283 A50 A13 149 | 27 450 | 640 #2 076 344
B 6-32) 2 350
g
= 164-32 1 290
PF1IMW | PFF12MW | 832 1 063 a21 346 S14 AB9 JA67 | 140 | 450 | 640 #2 076 A0T
(#8-32) 2 .350
190-32 1 290
1#10-32) PF1IMW | PF12MW | 032 1 2 063 a2 346 514 350 AB9 ABT | 140 [ 450 | 640 #2 076 A07
.250-20 1 350
(1/4-20) PF1IMW | PF12MW | 0420 1 2 063 128 A13 575 410 531 AT 140 530 790 #3 081 468

_46_



ESE ERIRETHE PRESS-IN STYLE CAPTIVE PANEL FASTENER ASSEMBLIES

| g B
Bs =bargis BT AR
Type Thread Screw Finish
code Length Code
Code
LS A

Materials and Standard Finishes

E
ST ORI ERIR, FEAENERSE 5] o T 5
Screw :400 Series Stainless S| M3x0.5 |PFHY| M3 - 092 | 092 55 | 549 | 695 = 203 g 669[113| #1 5.8
Steel passivated, E o 6'01 L]
Finish: Bright nickel Owver Copper Flash = |M3.5x0.6|PFHV| M35 . 082 | 092 g 598 | 745 o= 234 5 745/125| #2 6.3
WES B, AERE 5 550 o
Retainer : Carbon Steel, Max0.7 [PFHY| M4 = 082 | 092 64 | 638 | 785 oo 279 = 85 [141| #2 6.7
Finish: Bright Mickel Over Copper Flash [ 11240 o =16 000
& B S T 1) FHRBEOD E 4a-ap |PFHY| 440 - 036 | .036 203 | 202 | 260 2o 080 oo 260(.436| #1 21
For Usein Sheet Hardness: = 138-32 o 234 000

a :
B0 or less on the Rockwell "3* Scale 8| "46-32 PFHV| 632 - 036 | 036 219 | 218 | 276 5 092 o 290|484 | #2 23

Z|164-32 ) 259 000

S| pggn [PFHY| 832 : 036 | .036 252 | .261 | .309 5o 11 [0 -386| 656 #2 26

EFREERIRET A Press-IN STYLECAPTIVE PANELFASTENERASSEMBLIES

as =gt EETEEN
Type Thread Screw
code Length —
Code :_l -1
| | i L]
e I |
PR10E =28

Retainer PSAEET/Screw
T
" Mo
7 =
% = z
7 Sl 5
AR === r = 40
- g
= Ma PF10 M4 40 1 318 1016 | 4.06 711 33
M5 PF10 M5 40 1 318 | 1016 | 406 | 711 | 33
112-40
/ " e PF10 440 40 o4 | 125 | 40 [ a8 | 28 | a3
&
NLOEZ@E/Receptacle Nut 18 'L%i"a? PF10 632 40 04 | 1258 | 40 | 18 | 2B | a3
]
L
T| 16432 ;
z pusgih PF10 832 40 04 | 125 | .40 16 | 28 | a3
190-32
R PF10 032 40 04 | 125 | 40 | J6 | 28 | 13

_4_{'_



HEIRETPANEL FASTENERS

@ O O

B IR
Shank
Length Code

E-itpaatp
Type and

Material

[=Evgir

Thread
Code

=

TRFGZEINSTALLATION

e |

=c<]

o F—

T

Max £ 010 Nom
z
ﬁ 112-40 0 f
W|_(#4-40) PETM 440 - 036 | 036 219 218 | 310 | 100 570 T oes | 380 | S50 #2 28
=| 13832 Q 240 000
(#6-32) PFTIM 632 7 036 036 250 249 342 A00 300 065 A10 B10 #2 29
.164-32 0 240 000
[#8-32) PFTM 832 : 036 036 312 311 405 120 300 e 430 630 #2 a3

ALL DIMENSIONS ARE MILLIMETERS(R < 84: %)

3 i T,
E #).25 Noim MNom
sl
o
Sy . 0
#| m30s PFTM M3 - 092 0.92 5.56 554 | 787 25 T e REE #2 7.1
0 6.1 0
M4*0.7 PFTM M4 : 082 0.92 7.92 79 | 1029 3 =62 | Tec | 1092 16 #2 838
BEAEINSTALLATION
@ @ o «> |
<t B M1 1 mm—l
4yt 3 i
HWOHME KB EEKERR < | e
Type and Thread Shank o = B2 T2 |
Material Code Length Code *‘ 4 m —_— . |
i w »
: = | G2
= LR 111 T |
| l—-—:—-' A
S —
ALL DIMENSIONS ARE IN INCHES(R<8{i:%~)
g
-
ul
B 11z2-40 [i] 040 210
| wa-a0) | PFIMF 440 - 041 87 187 186 310 00 00 570 380 550 #2
2 13832 0 040 240
#e-32) | PFTMF 632 3 072 213 213 212 342 00 00 300 A10 B10 #2
164-32 0 040 240
waaz | PFIMF | 832 . o012 | 266 266 285 | 405 120 —— s 430 630 #2
ALL DIMENSIONS ARE MILLIMETERS(R T EB{iI:E:¥k)
" 2
q
'3_3
ie]
B 0 1.02 5.33
& w05 | PRIMF M3 - 1.05 0.79 475 473 787 25 T EE 9,85 13.97 #2
B 0 1.02 6.1
M4*07 | PFTIMF M4 . 183 152 6.76 6.74 10.29 3 54 563 1092 16 #2

_48_



HEIRTTPANEL FASTENERS

PF21,PF22

@0 OO

BSHE =g eSS AL
Type and Thread Shank Finish
Material code code

Knob:Aluminum

iR =]

Ferrule:Hardened carbon steel
HIEE MRS, TOEERR
Screw: 300 Series Stainless Steel
$RET:300/304F 5 R

Spring: 300 Series Stainless Steal
TR 300/ 304 FPIFEER

ALL DIMENSIONS ARE MILLIMETERS(R 8 {i:%X)

REFEINSTALLATION

4 12,
1240 a0s | PRz 440 M3 ; 097 1 555 553 10.5 i Ty 115 #2
{#4-40) : 2 : : ! ; 72 155 :
3 8.8 17.1
0 4 123
112-40
(a-40) | MBS | PF22 440 M3 L 147 15 5.55 553 105 27 14 115 #2
3 8 7.1
138-32 £ g. 1554
o3z | M3S06 | PF21 632 M35 1 097 . 6.35 6.33 15 & A5 159 #2
3 10,1 21.2
= e 0 5, 164
; ooz |M3S06| PF2 | 62 | mas ! 141 | s 635 633 | 115 x 8] 159 #2
2 10 212
o 0 56 169
| 164-32
& saz | MoOT | PRI 832 M4 ! 0.97 1 7.90 788 13 22 o L #2
3 103 516
0 56 169
A164-32
sz | Ma07 | PR22 832 Ma 1 1.47 15 7.90 788 | 13 Je 180 1 62 #2
3 103 216
[i] 56 169
190-32
(#10-32) | Msx08 | PF21 032 M5 : 097 1 7.90 7.88 13 - e 162 #2
3 103 216
1] 5.6 16.9
190-32
(#10-32) | M5*08 | PF22 032 M5 e 147 15 7.90 7.88 13 - T #2
3 103 216
il 7.1 205
250-20 1 8.7 221
(razg | Mex PF21 0420 ME : 097 1 9.50 9.47 147 - e 20 #3
3 118 253
0 71 205
.250-20 1 BT 551
(razg) | Mex PF22 0420 ME 1 1.47 15 9.50 9.47 147 o 221 20 #3
3 118 253

_49_




ESE ERIRETHF PRESS-IN STYLE CAPTIVE PANELFASTENER ASSEMBLIES

PF31,PF32,PFS31,PFS32

S L] 1RETHC RS AL
Type and Thread Screw Finish
Material code Length Code L2 753%INSTALLATION
Code
o~ N
PF R&5U# RS2 12
PF Series Materials and Standard Finishes
SEETE), TSR Scrow: Carbon Steel, Bright Nickel Over PFSHENIREELE
CopperFlash - . . »
SR SR PFD Series Materials and Standard Finishes
Retainer; Heat-Treated Carbon Steel, Bright BTS00 EFFEE, ik
Nickel Over Copper Flash Screw: 300 Sefies Stainless Steel
30075 AT B S R R R Retainer: 30D Series Stalnless Steel
Spring:300 Series Stainless Steel 3300 EFF 9 Spring:300 Series Stainless Steel
&R R ST/ FHRBED iE R A S el FHRBTO
60 orless on the Rockwell "B Scale 0 orless on the Rockwel'B" Sale
il 5 ; ra) .
PF31 PFS31 07 1 7
M2,5%0.45 M25 30 55 5.48 T.62 5.13 8.26 15.11 6.6
PFa2 PFS32 1.48 15 k]
= PF31 PFS31 047 1
5 M3x0.5 M3 a0 55 5.48
5 PF32 PFS32 1.48 15
= 103 7.62 513 B.26 15.11 6.6
= PF31A | PFS31A 047 1
=| M3.5%05 35M3 a 6.0 597
PF324 | PFS324 148 15
PF31 PF531 097 1
M4x0.7 Ma 30 6.4 6.38 119 7.62 5.26 B.38 | 1524 7.37
PFa2 PFSa2 148 15
PF31 PFS31 097 1
M5x0.8 M5 a0 8 7.98 135 7.62 5.59 851 | 1537 8.38
PF32 PFS32 1.48 15
Méx1.0 | PF32 PFS32 & 35 1.48 1.5 95 948 15.9 8.89 612 9,78 ATAS 9,65
112-40 PF30 PFS30 030 030
'[# 4-40) PFa1 PFS31 440 30 038 040 203 202 403 300 202 325 595 26
PF32 PFS32 058 060
138-32 PF30 PFS30 030 030
'[#6-3211 P31 PFS31 632 30 038 040 219 218 438 300 202 325 595 28
% PF32 PFS32 058 060
; 164-32 PF30 PFS30 030 030
=) '[ 48-32) PF31 PFS31 832 an 038 040 250 249 468 300 207 330 600 20
& PF32 PFS32 058 D60
s PF30 PFS30 030 030
[I#1 0-32) PF31 PFS31 032 30 038 040 312 311 530 300 220 335 B05 33
PF32 PFSa2 058 060
250-20
(1/4-20) PF32 PFS32 0420 a5 058 060 a715 S74 625 350 242 385 675 a8

_50_



HEIRTTPANEL FASTENERS

PF41,PF42,PF15,PF25

REFZEINSTALLATION
me 1215758 gt i
Type Thread Shank Finish
code Code Code

Knob:Aluminum BEE:E

Screw:300/304Series Stainless Steel $7:300/304 FFIFHEH
Spring:300/3045eries Stainless Steel BE:300/304 EFIFER
Ferrube: Aluminum SIES:S

ALL DIMENSIONS ARE MILLIMETERS(R < B{i: %)

BVEE
Min

Nom

4] 4 12.1
112-40 PF41 1 57 138
{#4-40) M3x0.5 PE1S 440 M3 2 1.0 1.0 4.75 4,73 0.4 105 72 15.3 11.3 #2
3 88 169
0 a7 128
112-40 PF42 1 6.4 145
ag-a0) | M35 [ oo | 440 M3 — 18 | 18 4715 473 04 105 £d o 1.3 #2
3 95 176
0 6 164
138-32 PF41 1 76 18
(#6-32) M3.5x0.6 PE15 532 M35 5 1.8 1.8 54 5.38 0.4 15 W 196 153 ft2
3 108 | 212
0 76 18
138-32 PF42
g (#6-32) M3.5x0.6 PF25 632 M3as 1 34 34 5.4 5.38 1.6 115 Lo 19.6 153 #2
2 108 | 212
Q i 6.4 16.9
| 164-32 PFd1
&| weso | MPOT | e | 832 M4 11 18 | 18 6.75 673 0.4 13 = 182 1 156 #2
3 1L | 216
0 8 185
JA64-32 PFa2
s M4x0,7 832 M4 1 | 34 | 34 675 673 16 13 95 20 156 #2
(#8-32) PF25
5 11| 216
b4 169
190-32 PFa1 ? g 185
{#10-32) M5x0.8 PFE15 032 M5 5 1.8 18 8.20 673 0.4 13 5.5 o0 15.6 #2
3 i1 | 216
0 8 18.5
190-32 PF4
M5x0.8 . 032 M5 1 3.4 347 8.20 6.73 1.6 13 95 20 156 #2
#10-32) PF25
2 11| 216
250-20 PF41 . ; 28 o
(7420 | ME | peqs | 0420 MG 1— 18 | 18 9.50 817 4 147 % 21 193 #
3 126 | 263
0 9.4 221
250-20 PE42
ey | M8 | peos | 0420 MG 1 ]| 34 | 34 8.20 817 16 147 1 237 | 193 #3
2 126 | 253

_5"] =




S EIRET PANEL FASTENERS

PF50,PF60

@ 0O OO

BISFIRH Rshs f=ils T
Type and Shank Finish
Material Code Code

LSt
Thread
cade

HEH:ER

Knob:Carbon Steel

R

Screw:CarbonStael

EE RS

Ferrule:Carbon Steel
HEHEI00FI R ER
Spring:300.5eries. Stainless. Steel

ALL DIMENSIONS ARE MILLIMETERS(R < 8{i: %K)

REFEINSTALLATION

PF50 PFE0 ; 0.77 0.8 55 5.48 10.3 5.26 334 —] 864 [ 13.21
Max05 | PF50A | PFEDA M3 - 0.97 1 5.5 5,48 10,3 5.26 357 T 864 [13.21 #1 6.6
PF50B PEGOR 4 1.47 1.5 55 5.48 103 5.26 ‘_: s 864 | 1321
E PF50 PF&0 - 0.77 0.8 5.56 554 111 5.26 - ——] 864 [ 1321
Z| M35%06 | PFSOA | PFBOA | 3.5M3 0.97 1 5.56 5.54 111 5.26 —% —— 864 [ 1321 #2 ]
o PF50B | PFEOB 1.47 15 5,56 5.54 11.1 526 |— i 864 | 13.21
£ PF50 PF&O 0.77 0.8 6.4 6.38 11.9 551 3 1 864 | 1346
=| maxo7 | prsoa | PFsoa M4 5 0.97 1 6.4 6.38 119 551 — — 864 [1346 | #2 7.4
PF50B | PFEOB ; 1.47 15 6.4 6.38 1.9 551 ¥ AT 864 | 1346
PF50 PF&0 e 0.77 0.8 3 7.98 135 572 — -+—] 915 [ 1345
M5x0.8 | PF50A | PFBOA M5 0.97 1 8 7.98 135 572 _éﬁ 1o 915 [ 13456 | #2 84
PF50B | PFEOE 1.47 15 8 7.98 135 572 = 915 | 13.46
MEx1.0 PF50 PF&0 M6 1.47 15 9.5 9.48 15.9 6.25 —— 1004 | 1524 [ #2 9.7
ALL DIMENSIONS ARE IN INCHES(R8{i:%)
PF50 PFE0 030 .030 203 202 406 207 340 | 520
| 11240 | prsoa | ereoa | 440 038 040 203 202 406 207 — — 340 | 520 #1 26
Z| #4-40) ["prsop | PFBOB 058 080 203 202 406 207 F———F——— 340 | 520
7 133 PF50 PFB0. 030 030 219 218 438 207 —ﬁ— —{ 340 | 520
ull
Bl @#e-32) PFS0A PFE0OA 632 2038 040 219 218 A38 207 s 340 | 520 #2 28
= PFS0B | PFEOE 5 058 060 219 218 438 207 %— 340 | 520
B PF50 PFEO0 5 030 .030 250 .249 468 217 e — 340 | 520
164-32 I prepn | PFeOA | 832 - 038 040 250 249 | 468 | 217 —% G 340 | 520 #2 29
[#8-32) PF50B PFEOB g 058 060 250 249 AG8 217 £ s 340 | 520
190-32 |_PFS0 | PF60 - 030 030 312 311 | 530 | 225 340 | 530
{#10-32) | PES0A | PF6OA | 032 + 038 040 312 A1 530 225 — 340 [ 530 #2 33
PEEOB PEEORE = 058 060 S12 211 530 228 —% — 340 | 530
250-20 o P 200
(/a-20 | PFSO PFED | 0420 ; 058 060 375 374 625 246 o —— 395 | 600 #2 38

_52_




HEIRTTPANEL FASTENERS

PF51,PF52,PF16,PF26

REFZEINSTALLATION
s $24rEy a2
Type Thread Shank Finish 771 777Z !
code Code Code * = 1 e
lad - A
o—=—
- -
17."777_' B A 2] ‘
v L LSS
‘ - | F l
-f - A
i-—--l-—q
Y ) AT f
| |
I
| 1] 11 m
AL A K_——v‘
Knob:Aluminum $8:55 w,
FarrulesAluminum #IEE 2 *—&;—"#T TI.
Screw:300/304Seres Stainless Steel $ET:300/304 £FIFEEH w——r
Spring:300/304Series Stainless Steel M ET:300/304 BFIFERE I ‘ |
| .c_-
+ =
ALL DIMENSIONS ARE MILLIMETERS(R T 8{i:2:X)
= : =
0 5.1 13.8
A12-40 1 o | PFE 440 M3 ] 34 | 016 49 105 65 15.3 19 | 28 | 64| 78 | 94 #2
(#4-40) PFI6
2 8.2 16.9
112-40 PF52 0 6.5 15.3
aaag | MPOS | Loe 440 M3 - a2 |1625 49 105 g Teo | 119 |36 |64 [ 78| 0a #2
0 7.2 17.8
138~
3832 | asxo6 | P! | 6a2 Mas [ 1 | 37 | 018 57 115 88 194 | 154 | 20| 72| 86 |10a| s
[#6-32) PF16
2 104 21
138-32 PF52 0 8.8 19.4
- (#6-32) M3.5x0.6 PE26 632 M35 T 45 TE=2E BeT: 115 104 51 154 37| 72| 86 | 103 #2
3| 164-32 PF51 0 73 185
wa-az | MPOT | oo 832 M4 1 4 0-1.6 7.3 13 8.8 20 162 | 31 | BB | 102 | 12 #2
ja) 2 104 21.6
k-
&| 1643z PF52 0 ) 8.8 20
B we-sz | MO | peog a3z Ma - 48 |16-25 73 13 e s1g ] 162 | 39 [ 88 102 12 #2
0 7.3 18.5
190-32
(#10-32) | M5*08 ::;Eé 032 M5 1 4 0-16 7.3 13 8.8 20 162 | 31 | 88 | 102 12 #2
2z 104 21.6
190-32 PF52 0 88 20
o3z | MB08 | oo 032 M5 : 48 |1.6-25 7.3 13 — S 162 | 39 (88 |102] 12 #2
0 8.8 221
250-20
Mext | PO | gazg M6 1 4 | o8 89 147 [ 104 | 237 | 20 |33|105|119[135| #3
(1/4-20) PF16
2 12 25.3
250-20 PF52 0 104 237
(ra20) | M| pooe | 0420 ME : 48 |1.6-25 8.9 14.74 = =Fee 20 | 41 [105] 119|135 #3

_53_




HEIRTTPANEL FASTENERS

PF53

@OOOO

HERNAE REE RIS RUKEREN RELE
Type and Shank Thraad  Shank Lergth  Frish
Material Code Coda Code

REFEINSTALLATION

Knob: Aluminum §EE: 8

Ferrule: Aluminum #13: 2

Screw: 300 Series Stainless Steel 85T 304FREEH
Spring: 300 Series Stainless Steel WE: 304FHR

ALL DIMENSIONS ARE MILLIMETERS(R < 8{i:%3k)

T T2

+0.4 +0.4

0 0.8 5.6
1 140 0.5-1.0 L o] L 20 #2
138-32 2 24 L
M3.5%0.6 | PF53 632 M3.5 11.5 3 5.0 10.4 106 | 154 64 | 15
[#6-32)
1 24 7.2
17 1.7 1.0-1.6 2 4.0 8.8 26 #2
3 56 10.4
0 1.2 BT
= 1 28 7.3
g 1 12 05-1.0 3 a3 T 20 #2
5 3 5.9 10.4
= =
’fi IET;;E’ MA4x0.7 | PF53 832 Es 17 17 1016 13 ; i'g ;:: 11.2 | 157 25 64 | 75 2
3 5.9 10.4
1 2.8 7.3
26 26 1.6-25 2 43 8.8 3.5 #2
3 5.9 104
0 12 5.7
1 28 7.3
mn 1.1 0.5-1.0 > 23 28 20 #2
3 59 10.4
190-32 1 28 7.3
(#10-32) o B 03 W 17 1.7 1.0-1.6 12 2 4.3 8.8 ;2] A=q 26 Ll #2
3 59 10.4
1 28 7.3
26 26 1.6-25 2 4.3 8.8 a5 #2
3 59 10.4

_54_



ESIBYERIRET A PRESS-IN STYLE CAPTIVE PANEL FASTENER ASSEMBLIES

PFS2,PFC2

2 4hTEY
Finish
Code

BISFIME
Type and
Material

PFS2# MR EEL R
PFS2 Materials and Standard Finishes

=g
Thread
code

W ES HIMERN, FERS
Screw and Retainer: Heat-Treated Carbon Steel
SR 300FF FHE
Spring:300 Series Stainless Steel
il iR R % T BV FHREBD

For Usein Sheet Hardness: BO or less on the Rockwed "B” Scale

RETEER
Screw
Length

Code

HH5ZINSTALLATION
s wd ™5
]._E_.
i F F =
@E ; ’J [ X
PFC2H RIFEE LR

PFC2 Series Materials and Standard Finishes

WETHIWESR 300FFF5EH

Screwy and Retainer - 300 Serdes Stainless Stealpassivated
300 FFF I Spring:300 Series Stainless Stesl

i AR B el T HRBT0

For Use in Sheet Hardness:70 or less on the Rockwell "B" Scale

6.4 0

Z 40
A| Mpos | prs2 | prC2 M3 - 153 153 673 671 T 1.83 —>—1 914 | 1372 | 635
5 50 7.9 0
| Maxog | Prs2 | Prc2 M4 72 153 153 7.92 7.9 o531 [ 114 2,08 3.2 | 1143 | 1753 | 787
g 94 143 6.4
50 79 0
Ma=0.8 PFS2 PFC2 M5 T2 153 1.53 8.74 872 1031 111 208 3.2 11.47 17653 B8.63
94 14.3 6.4
50 95 0
M1 PFS2 | PFC2 M a2 153 153 1049 | 1047 | 1189 [ 127 2.46 32 | 1473 | 2235 | o0s
04 159 6.4
112-40 40 250 000
wa-0) | PFS2 | Pre2 440 = 060 060 265 24 | 32 =50 072 Tos] 360 | s40 25
138-32 By il Lol
e-52) PFS2 PFC2 632 &2 .060 060 281 280 344 375 072 125 360 540 280
= 84 500 250
2| ieaaz 50 312 .000
Ml we-ay | P52 | P2 832 72 060 | 060 312 a1 | 3715 | a3 082 125 | 450 | 690 | 310
T 94 562 250
¥ e 50 312 000
@032 | PFS2 | PrC2 032 72 060 060 344 343 | 406 | 437 082 125 | 450 | 690 340
94 562 250
250-20 50 375 000
(/420 | PFS2 PFC2 0420 82 060 060 413 412 | 468 | 500 097 125 | seo | .80 .380
04 625 250

_55_



ESI B ERIRETHMYE PRESS-IN STYLE CAPTIVE PANEL FASTENER ASSEMBLIES

PFC2P

@ @ %75 EINSTALLATION

BS SRETED WETEET e
Type Thread Screw
code Length
Code

T2

e

M ERREELE af jlqu <|
Materials and Standard Finishes c

$RET:3008 400 R FFEEH

Screw : 300 or 400 Seres Stainless Steel @

SIEES00ESFES

Retainer: 300 Serles Stainless Steel - =4
ST 300FF AR

Spring:300 Series Stainless Steel

il iR R TRV FHRETO

For lisein Sheet Hardness:70 or lesson the Rockwell "B" Scale

i

in.[

e 40 6.4 0
% M3X0.5 PFC2P M3 a2 1.53 153 6.73 6,71 7.92 95 32 9.4 13.72 #1 6.35
“ 50 79 ]
E MAKDT PFC2P M4 72 1.583 153 7.92 F:4 9,53 111 32 1219 17.91 #2 T.87
= 94 143 6.4
50 T o
MEX0.8 PFC2P Ms 72 153 153 8.74 aT2 10.31 114 32 1245 17.91 #2 863
143 &4
60 9.5 o]
MEX1.0 PFC2P ME 82 1.35 1.35 10.49 10.47 11.89 12.7 32 1575 22.99 #3 9.65
04 159 6.4
waao | PFEP | 440 2 060 | 060 | 265 | 264 | 2 2 BB om0 | s #1 25
P 0 250 | 000
#(4-40) PFC2P 632 62 080 060 281 280 344 275 125 380 540 #2 2B
= 84 500 | 250
& 50 312|000
Bl e | prcp | 832 72 060 | o080 | 312 | a3m 375 437 | a2 a0 | 708 # 31
g 562 .250
s 50 312|000
t'#.l 0-32) PFC2P 032 72 0680 060 344 343 A06 A37 i) A80 705 #2 34
562 | 250
60 375 | 000
ﬁfﬁ;& PFCZ2P | 0420 82 060 060 431 M2 468 500 125 £20 905 #3 38
04 625 | 250

_56_



H¥HH SPRING-LOADED PLUNGER ASSEMBLIES

PTL2,PSL2

@ @ o @ REFEINSTALLATION

HEtE KERE FmEt

Type Plunger Plunger BEHAHE
Diameter Length Finish

Code Code Code

Lockout feature
holdsplunger in
retractedposition.
Simplyretract and
twistto engage
lockoutfeature.
HliETh BTG
{RIGTESEOMIE .
DEgEEFHHRE, Z
VAT R AR o %

Shoulder |--m - C —o= J
provides
positive stop

thuring Clinching profile may vary.

BeNa L TERHNRREEMTE.

R ehiRftal
Stz

Plunger: Hardened Carbon Steel £33 hNi#Ek
Retainer: Hardened Carbon Steel {#1%88: hNiEg:

Spring: 300 Series Stainless Steel ##: 300 RFIREH PTL2/PSL2 Installed and withmating

panel. Minimum matinghole diameter

251" / 6.38 mm. 77 2773
D22 PTL2/PSL2 HEIERETER. By fooneand
RRBEAERY 0251 BT / 6.38 Tk, H

ALL DIMENSIONS ARE IN INCHES(R8{i: %)

(E3Ela3=Hmn

psL2™ 04 4 058 060 328 327 250 50 A06 310 a7 510 780 34

=

2

o

B

# PTL2 04 4 147 153 8.33 83 6.35 127 10.3 7.87 432 1511 2273 8.64
psL2" 04 4 1.47 153 8.33 831 6.35 127 103 7.87 4.32 15.11 19.81 8.64

NOTE:Without lockout feature, Available on special order,
i TUIEINAE. TIEBIITRE .

_5_{'_



FEFREIRET FLUSH-MOUNTED SCREWS

PS10

E
D @ 40 J mE
B0 EETEER ( Tl )
Type Thread Scraw
code Length | =
Code | [| ._I
L ¥

s Nom
b
§
HEARESEL b=
&
Materials and Standard Finishes =| maxor | esio Ma 40 6.3 1.91 838 33
SO0EFITEES . Sk M5X0.8 P510 M5 40 71 1.9 838 33
300 Series Stainless Steelpassivated ;{Eﬁ B510 440 40 18 075 a3 13
= =
@) e | Ps10 | 632 w0 | 2 075 33 13
(=]
w =
% -t:gi?f? PS10 832 40 25 075 33 a3
oo ]
[’:193_-25 PS10 032 40 28 075 .33 A3

FHRREEEEFFLUSH-MOUNTED RETAINERS
PR10

GD (
E
®E 8 |
Type Thread |

o code ( T — |
HENFRRLL \ % i
- - n X
Materials and Standard Finishes C
J00FEFUAEE, #HE L S N o
300 Series Standess Steelpassivated
EEAR R ST 8/ TFHRBTO

For Usein Sheet Hardness: 70 or less on the Rockwell "B" Scale

g M3x0.5 FR10 M3 3na 1.27 ina 714 4,75 712 7.87 1.81 7.87
)
g Max0.7 PRIO M4 318 1.27 318 874 6.48 872 9.53 191 864
i
2| Msx08 PRIO M5 318 1.27 318 953 7.37 9.50 1041 1.91 a.14
112-40
| #a-a0) FR10 440 125 050 125 281 195 028 31 075 e |
= 735-32
o %) PRIO g3z 125 050 125 312 225 A bl .34 075 a3
a5 [#E-32)
D™ 16a-32
= (#8-32) PR10 832 r Lt 050 128 344 225 343 37 075 34
[ is0-a2
Wioag PRIO 032 128 050 125 375 290 a14 A1 075 38

_58_



BNREERS SELF-CLINCHING RECPTACLE NUTS

N10

DO OO

ik b=y EEEpEY EED (
Type Thread Shank Finish
code Code code

Materials and Standard Finishes
FRALEEES], SRR, MEER
Retainer: Heat-Treated Carbon SteelZinc 7|
Plate Chromate Plus Sealer 4|
Hardened carbon steel 9IM3x05| N0 M3 1 047 1 475 | 473 [ T 33 3.2 6 5.59
ISR TR S T 2V FHRBBO
For Usain Sheet Hardness: MAXD.T| N1 M4 1 0.97 1 635 | 633 | 864 33 475 [ 711
80 or less on the Rockwell "B" Scale
MEXD8| N10O M5 1 0.97 1 704 | 701 | 953 33 541 6 7.87
112-40
lwigan | Mo | 400 | 1 | 038 | 040 | 87 | aBe | 28 | a30 [ 26 | 24 | 2
R
i .n[6-32] N10 632 1 038 040 213 212 e 130 156 .24 27
a
Wi 164-32
Ll ypay | N1O 83z 1 038 040 250 249 34 130 187 24 28
=
S| 15032
o] N10 | 082 1 038 | 040 | 277 | 276 a7 130 | 213 24 N

Eﬂﬂﬁﬁﬂﬂ?ﬂﬁ: PRESS-IN STYLE CAPTIVE PANEL FASTENER ASSEMBLIES

PFK e

e i g RETER
Type Thread Screw
code Length
Code

T1

HEAREEL

Materials and Standard Finishes

SET:300FFIF 80

Screw: 300 Series Stainless Steel

WES 300FIFEHEN

Retainer: 300 Seres Stainless Steel
300 FF R

Spring: 300 Series Stainless Steel

S PR R B T IV HRBTO

For Usein Sheet Hardness: 70 or less on the
Rockwell "B" Scale

METRLC (48}

=1112-40 40 250 00

Q #4-40 PFK | 440 62 060 | 060 | 265 | 283 | 312 | 375 | 072 | 125 .36 54 20

& a4 0.500 2580

E 138-30) A0 250 00

% #E-32 PFK | 632 62 060 | .060 | 281 299 | 344 | 375 | 072 | 25 .36 54 26
84 500 250




INTLSLERM Reduce Head / Knurled Body

RH-KB

RH-KB
Material : Steel
HE:

of

RH-KB/SS
Material : Stainless Steel
@ 55

RH-KB/AL
Material : Aluminurm
ME: 8

Hole Sizg

4

(8457 Unit :rmm

T{Grip Rangs)

TiGrip Range)
Part
MNumber Min
M3x0.5 RH-KB-0320 0.5 20 5.0 6.2 4.9 6.0 05 2.0
Md=0.7 RH-KE-0420 05 20 6.0 70 59 70 05 1.2
Max0.7 RH-KB-0440 20 4.0 6.0 70 59 7.0 05 130
MEx=0.8 RH-KB-0520 05 20 7.0 70 6.9 80 05 15
ME=0.8 RH-KB-0540 20 4.0 7.0 7.0 6.9 80 05 13.0
ME=1.0 RH-KB-0625 0.5 25 9.0 85 89 100 0.6 140
ME=1.0 RH-KB-0650 25 5.0 9.0 85 89 100 06 16.0
MiB=1.25 RH-KB-0830 0.5 3.0 1.0 10.0 109 120 0.65 165
ME=1.25 RH-KB-0850 3.0 5.0 1.0 10.0 10.9 12,0 085 185
M10%1.5 | RH-KB-1035(12H) 1.0 35 12.0 125 1.9 130 07 195
M10x1.5 RH-KB-1035 1.0 35 13.0 125 129 140 07 195
M10x1.5 RH-KB=1080 35 6.0 13.0 125 129 140 07 220
M12%1.75 RH-KB-1240 1.0 4.0 16,0 16.2 159 176 075 24.2
(E88457) Unit :rmm

nd Parformance

FLiZHole S

Bin Max
M4x0,7 | RH-KB/SS-0420 05 2.0 6.0 65 59 70 05 105
MEx0.8 RH-KB/S5-0620 0.5 20 7.0 72 6.9 8.0 05 115
ME=1.0 RH-KB/S5-0625 0.5 25 9.0 8.7 89 100 0.6 14.0
MBx1.25| RH-KB/SS-0830 05 30 11.0 105 109 120 0.65 16.5
M10x1.5 | RH-KB/SS-1040 1.0 35 13.0 10.7 129 14.0 07 17.7
[88488) Unit :rmm

Min Maix
Max0.7 RH-KEfAL-0420 0.5 20 6.0 6.0 59 70 05 105
MExDE | RH-KB/AL-0520 0S5 20 T.0 75 6.9 80 05 115
ME=1,0 RH-KE/AL-0625 05 25 9.0 92 89 100 06 14.0
MBx1.25 | RH-KB/AL-0825 05 3.0 11.0 102 109 120 0.65 165
M10=1.5 | RH-KE/AL-1030 1.0 3.0 13.0 1n.s 129 141 07 17.7

_60_




FELPEERY Flat Head /Knurled Body

FH-KB

.

FH-KB
Material : Steel
HME: &%

FH-KB/SS
Material : Stainless Steel
HE: FHRN

FH-KB/AL
Material : Aluminum

Max

Hole Size

[E8457) Unit :rmm

M3x0.5 FH-KB-0315 0.5 1.5 5.0 6.0 49 8.0 08 10.0
Mdx0.7 FH-KE-0420 0.5 20 6.0 6.0 5.9 9.0 08 105
40T FH-KB-0435 2.0 3.5 6.0 6.0 59 9.0 0.8 120
MExD.8 FH-KB-0525 0.5 25 7.0 75 6.9 100 1.0 13.0
M5x0.8 FH-KB-05530 2.5 5.0 7.0 85 6.9 10,0 1.0 165
MBEx1.0 FH-KB-0630 05 30 9.0 92 89 123 13 155
MEx1.0 FH-KB-0655 30 5.5 9.0 105 89 13.0 13 195
MEx1.25 FH-KB-0835 1.0 a5 1.0 1.5 109 14.5(16.0) 1.5 185
MBx1,25 FH-KB-0&60 35 6.0 1.0 115 109 14.5{16.0) 15 210
M10x1.5 FH-KB-1040 1.0 4.0 13.0 135 128 [17.0018.0) 1.7 215
M10%1.5 FH-KB-1085 4.0 6.0 13.0 135 129 (1700190 1.7 240
M12x1.75 FH-KB~1240 1.0 4.0 15.0 135 14.9 18.0 1.7 22.0
M12%1,75 FH-KB-1265 4.0 6.5 15.0 14.0 149 18.0 1.7 250
M10%1.5| FH-KB-1035(12H) 1.0 35 12.0 11.0 11.9 16.0 16 19.0
M12x1.75] FH-KB-1240(16H) 1.0 4.0 16.0 15.0 159 220 20 250
M12 RH-KB-1260(16H) o 6.0 16.0 16.0 159 220 20 280
(B4 Uit :mm

ension and Performance

M=, 7 FH-KBSS-0420 0.5 20 a.0 6.5 59 9.0 0.8 10.5
MEx0.8 | FH-KBSS-0525 05 25 7.0 8.0 6.9 10,0 1.0 13.0
ME=1.0 FH-KBSS-0630 05 30 9.0 9.2 89 123 13 185
MBx=1.25 FH-KBSS-0835 1.0 35 11.0 115 10.9 145 15 18.5
M10x1.5 FH-KBSS-1040 1.0 4.0 13.0 13.5 128 17.0 1.6 21.0
(EB4EE) Unit :mm

Bin

Maix

M4 =07 FH-KB/AL-0420 05 20 6.0 6.0 5.9 8.8 0.8 10.5
MEx0.8 EHKB/AL-0525. 05 25 70 7.5 69 100 10 130
MG=1.0 FH-KB/AL-0625 05 25 9.0 9.2 89 123 15 150
MEx1.25 | FH-KBfAL-0825 1.0 3.0 1.0 10.2 109 143 1.5 16.5
M10%1.5 | FH-KB/AL-1040 1.0 4.0 13.0 11.5 128 16.3 1.6 19.0

_61_




KL FHEERY Countersunk Head /Knuried Body

CH_KB y —E //-x Hole Size

-

d

[E4ir) Unit :rm

Numiber
Max0.7 CH-KE-0420 1.5 3.0 6.0 65 59 9.0 15 120
M5x0.8 CH-KB-0535 1.5 35 7.0 75 69 100 15 130
CH-KB ME%1.0 | CH-KB-0640 1.5 | 40 9.0 9.0 89 12.0 15 155
Material : Steel MBx1.25 CH-KE-0845 2.0 45 11.0 11.0 10.9 14.0 15 185
W & M10x1.5|  CH-KB-1050 20 | 50 13.0 13.0 129 16.0 15 210
(B4 Unit :mm
we
Part
Number Min Max
M4x0.7 | CH-KB/S5-0430 1.5 30 6.0 75 5.9 9.0 15 12.0
M5x0.8 | CH-KB/S5-0535 15 35 7.0 78 69 100 1.5 13.0
MEx1.0 | CH-KB/SS-0640 15 40 9.0 9.0 29 120 15 155
CH-KB/SS M8x1.25 | CH-KB/SS-0845 2.0 45 11.0 12.0 109 14.0 15 185
Material : Stainless Steel M10%15 | CH-KE/SS-1050 2.0 50 13.0 13.0 12.9 16.0 15 21.0

& W

INTUSL B &R 4L (Z4R) Reduce Head / Knurled Body - Imperial Hole
RH-KB-UK

Hole Sizg

Ny

[E845Z) Unit :rnm
1 and Perfarman
= TiGrip Range)  FL{E
Part
Number Min

M3x0.5 | RH-KB-UK-0315 | 05 1.5 4.8 55 47 5.4 0.4 9.0
Ma=0.7 RH-KB-UK-0420 0.5 2.0 6.5 6.5 5.3 7.0 0.5 105
M5=0.8 RH-KB-UK-0525 0.5 25 7.25 75 7.1 7.85 05 120
MEx1.0 | RH-KB-UK-0630 | 1.0 3.0 9.6 92 95 103 0.6 150
ME=1.25 | RH-KB-UK-0835 1.0 35 10.6 10.5 105 11.3 0.6 16.0
M10x1,5 | RH-KB-UK-1040 1.0 4.0 12.8 12.8 12.7 13.8 065 200
(BR4E) Unit srmm
RH-KB-UK .o
Material : Steel Part
R 8 Mumber
G-J2UNC RH-KB-UK-063206 g
8-32UNC RH-KB-UK-083208 02 .08 .252 256 248 275 019 A3
10-24UNC | RH-KB-LUK-102410 02 A0 283 295 279 307 019 AT2
1/4-20UNC | RH-KB-UK-142012 04 12 378 362 374 A06 024 591
516-18UNC | RH-KB-UK-5161814 .04 A4 A17 A13 A13 A49 024 B30
3/8-16UNC | RH-KB-UK-3B1616 04 16 504 504 500 543 024 787

_62_



LR ERL(EHR) Flat Head Knurled Body-AVK

OPEN END TYPE i@FLE

FH-KB-US L
L

D
i |
§ )
- =1 Gi:tlp1
D IL RANGE
HEEEE

Thread Specifications: Unifed 2B/2Iper ASME B1.1 Metric 6H/21per ASME B1.13M
IRTHINE:  R—2B/2IFFSASME B1.1 iR LHI6H/21 FESASME B1.13M R

HH 1 CLOSED END TYPE (S7LE)

§ i
LB E ILBL [ATD

(E24&) Unit :rmm
+.003

- 3 .000
6-32 UNC 632 020-,080 B0 17/64(.2656) 390 030 A20 268 305 740 B0 E10

6-32UNC 632 080-130 130 17/64(.2656) 390 030 470 265 305 740 580 B70
B-32UNC 832 020-.080 B0 17/64(.2656) 390 030 A20 265 305 T40 G40 810
8-32UNC 832 080-.130 130 17/64(.2656) .390 030 470 265 305 740 580 670
10-24UNC 1024 020-.130 130 19/64(.2969) A15 030 A75 296 315 990 845 730
10-24UNC 1024 130-.225 225 19/64(.2969) A15 030 585 296 315 L) 735 840
10-32 UNF 1032 020-130 130 19/64(.2969) A15 030 AT 296 318 890 845 730
10-32 UNF 1032 .130-.225 225 19/64(.2969) A5 030 585 296 315 990 735 840
1/4-20 UNC 420 027-165 165 25/64(.3906) 500 030 580 300 380 1,190 1,005 805
1/4-20 UNC 420 .165-260 260 25/64(.3906) 500 030 680 .390 380 1.190 905 1.035
5/16-18 UNC 518 027-150 150 17/32(5312) BB5* 035 690 530 470 1.390 1.175 995
5/16-18 UNC 518 .150-.312 312 17/32(5312) 685 035 805 530 425 1.390 1.025 1.120
3816 UNC 616 027-150 150 17/32(.5312) 685 035 690 530 AT 1.390 1.175 995
3/8-16 UNC 616 160-312 312 17/32(5312) B85 035 805 530 425 1,390 1025 1.120
1/2-13 UNC 813 063-.200 200 11/16(.6875) BES* 047 1.150 685 850 2,365 2070 1.505
1/2-13 UNC 813 200-.350 350 11/16(,6875) B65* D47 1.300 685 B50 2365 1.920 1.506
1/2-13 UNC 813 .365-500 500 11/16(6875) BES* 047 1.450 685 BEO 2,365 1.770 1.505
(&) Unit :m
L‘fﬁ'ﬁt HH D LB B 1ATD
Mread +£008 0,38 | MAX
Max0,7 1S0 470 0,50-2,00 20 9.91 076 10,67 6,713 7.75 18,80 16,26 15,49
Max0,7 IS0 470 2,00-3,30 33 9.91 0,76 11,94 613 7,75 18,80 14,73 17,02
M5*0,8 150 580 0,50-3,30 33 10,54 0,76 12,07 752 8,00 25,15 21,46 18,54
ME=0,8 150 580 3,30-5,70 57 10,54 0,76 14,86 752 8,00 2515 1867 21,34
ME=1,0 IS0 610 0,70-4,20 42 12,70 0,76 14,73 891 9,65 30,23 2553 22,73
ME%1,0 IS0 610 4,20-6,60 6.6 12,70 0,76 17,27 991 9,65 30,23 22,99 26,29
M8x1,25 IS0 8125 0,70-3.80 38 17,40* 0,89 17,53 13,45 11,94 35,31 29,85 2527
M&x1,25 IS0 8125 3,80-7,90 7.9 17,40 0,89 20,45 13,46 10,80 35,31 26,04 28,45
M10%1,5 IS0 1015 0,70-3.80 38 17.40* 089 17,53 13,46 11,94 35,31 20,85 2527
M10%1,5 IS0 1015 3,80-7,90 7.9 17,40* 0,89 20,45 13,46 10,80 35,31 26,04 28,45
M12x1,75 180 | 12175 1,60-5,10 51 21,97 1,19 20,21 174 21,59 60,07 52,58 38,23
M12x1,75 180 | 12176 | §10-8,90 89 2197 1,19 33,02 174 2159 60,07 48,77 3823
MI12x1,751S0 | 12175 | 890-127 127 21,97 1,19 36,83 174 21,84 60,07 44,96 38,23

_63_



INTLAL R B R (%£45) Small Flat Head Knurled Body-AVK

SFH-KB-US . OPEN END TYPE (FFi£E)

iy —H
+

| _- g‘é

Thread Specifications: Unifed 2B/2iper ASME B1.1 Metric 6H/21per ASME B1.13M
IREONAE . B—2B/2IFFSASME B1.1 iR AEI6H/21 & ASME B1.13M $RE

HH} CLOSED END TYPE (#igs)
T { [ 7
-
LB D ILB LA

(E24i ) Unit :mm
IATD*
MAX.
020080
6=32UNC 632 080-130 130 17/64(.2656) 310 019 AT0 265 305 740 580 670
8-32UNC B3z 020-.080 B0 17/64(,.2656) 310 019 420 265 305 740 640 610
8-32UNC 832 .080-.130 130 17/64(.2656) 210 019 470 265 305 740 580 &70
10-24UNC 1024 020-130 130 19/64(,2969) 340 019 A75 296 315 990 845 730
10-24UNC 1024 130-.225 225 19/64(.2969) 340 09 585 296 315 950 T35 240
10-32 UNF 1032 020-130 130 19/64(.2969) 340 019 A75 296 15 590 845 730
10-32 UNF 1032 .130-.225 225 19/64(,2969) 340 019 585 296 215 990 T35 840
1/4-20 UNC 420 027-165 165 25/64(.3908) A58 022 580 -390 380 1.190 1.005 Ba5
1/4-20 UNC 420 .165-.260 260 25/64(.3906) 455 022 680 390 380 1.180 05 1.035
5/16-18 UNC 518 .027-.150 150 17/32(.5312) 535 022 G590 530 ATO 1.390 1175 905
5/16-18 UNC 518 180-312 312 17/32(5312) 595 022 805 530 425 1,390 1,025 1120
3/8-16 UNC 616 027-150 150 17/32(.5312) 595 022 590 530 ATO 1380 1175 985
3/8-16 UNC G616 JA50-312 32 17/32(.5312) 595 022 805 530 A25 1.390 1.025 1.120
(&) Unit :m

JATD"

MAX
Max0,7 150 470 0,50-2,00 2.0 787 048 10,67 6,73 .75 18,80 16,26 1549
MaAx0,7 150 470 2,00-3,30 33 6,75 787 048 11,84 673 .75 18.80 14,73 17.02
ME=0,8 150 580 0,50-3,30 33 7.60 8,64 048 12,07 752 8,00 25.15 21,46 18,54
M5x0,8 150 580 3,30-5,70 57 T.60 8,64 048 14.86 7,52 8,00 25,15 18,67 21,34
MéE=1,0 150 610 0,70-4,20 4.2 10,00 11,56 0.55 14,73 9.91 9,65 30,23 2553 2273
MEx1,0 150 610 4,20-6,60 6.6 10,00 11,56 0,55 17.27 9.91 9,65 30,23 2299 26,29
M8x1,25 150 8125 0,70-3,80 38 13,50 15,11 0,55 17,53 13,46 1194 35.31 29,85 2527
M8x1,25 150 8125 3,80-7,90 7.9 13,50 15,11 0,55 20,45 1346 10,80 35,31 26,04 28,45
M10%1,5 I1SO 1018 0,70-3,80 38 13,50 15,11 0,55 1753 13,46 1194 3530 29,85 25,27
M10x1,5 1SO 1015 3,80-7.90 7.9 13,50 15,11 0,55 2045 13,46 10,80 3531 26,04 28,45

_64_



INTSLEHRD (BFL ) Reduce Head/Knurled Body - Closed End

RH-KBC

RH-KBC
Material : Steel
M B

\

RH-KBC/SS
Material : Stainless Steel
HE: AFEH

_\é1

ole Sizeg
|ﬁ,..l1..,.Lﬁd..

=y

ha

(ER4RE) Uit :mm

M4 x0.7 FH-KEC-0420 0.5 20 6.0 11.0 59 7.0 05 150
M x0.7 FH-KBC-0435 20 3.5 6.0 11.0 59 7.0 0.5 165
ME=0.8 RH-KEC-0520 0.5 20 7.0 125 6.8 8.0 05 165
MS5x0.8 RH-KBC-0535 2.0 25 70 125 6.9 8.0 05 18.0
ME*1.0 RH-KBEC-0630 0.5 3.0 9.0 155 8.9 10.0 05 205
MEx1.0 RH-KEC-0645 30 45 9.0 155 89 100 0.6 220
MBx1,25 RH-KBC-0830 0.5 3.0 11.0 17.0 10.9 120 0.6 23.0
Mex1.25 FH-KBC-0845 3.0 4.5 11.0 17.0 109 120 0.6 245
M10x1.5 FH-KBC-1030 1.0 3.0 130 18.2 129 140 0.7 245
M10x1.5 RH-KBC-1050 30 5.0 13.0 18.2 129 14.0 0.7 260

(E245F) Unit :rmm

M4x0.7 | RH-KBC/SS-0420 0.5 20 6.0 11.2 5.9 7.0 05 150
MEx08 | RH-KBC/S5-0520 | 05 2.0 1.0 115 6.9 80 05 165
MEx1.0 | RH-KBC/SS-0625 0.5 25 9.0 15.0 89 100 08 205
MB%1.25 | RH-KBC/SS-0830 0.5 3.0 11.0 175 10.9 120 0.85 230
M10x1.5 | RH-KBC/55-1035 1.0 35 13.0 180 129 140 07 245

ELERY (EAL) Flat Head/Knurled Body-Closed End

FH-KBC

FH-KBC
Material : Steel
HME: &

FH-KBC/SS
Material : Stainless Steel
HE: AEW

n
\

A

Hole Size

(EB48) Unit :rm

Cirm

T{Girp Range)

Bin

n and Performance
F.EHole

Max +H1

Bin Mg

M x0.7 FHKBC-0420 . A , | i

Max0.7 FH-KBC-0440 20 4.0 6.0 11.3 59 9.0 08 180
M5=0.8 FH-KBC-0530 0.5 3.0 7.0 11.5 6.9 100 1.0 17.0
M5x0.8 FH-KBC-0550 2.5 5.0 7.0 115 6.9 10.0 1.0 19.0
MGEX1.0 FH-KBC-0630 0.5 3.0 9.0 12.7 89 12.3 1.3 19.0
ME=1.0 FHKBC-0650 30 5.0 9.0 127 89 123 13 210
ME=1.25 FH-KBC-0830 0.5 3.0 11.0 14.8 10.9 15.0 1.5 215
MBx1.25 FH-KBC-0855 3.0 55 11.0 14.8 10.9 150 15 24.0
M10x1.5 FH-KBC-1040 1.0 4,0 13.0 19.2 129 17.0 16 270

[EB4SE) Unit :mm

Max0.7 | FH-KBC/S5-0420 0.5 20 6.0 11.8 59 9.0 03 16.0
MExO8 | FH-KBC/SS-0525 | 05 2.5 7.0 120 6.9 100 10 170
MEx1.0 | FH-KBC/SS-0630 05 30 9.0 12.7 a9 123 13 19.2
MB%1.25 | FH-KBC/SS-0835 2k 3.5 11.0 14.2 10.9 150 15 215
M10x1.5 | FH-KBC/SS-1040 1.0 4.0 130 18.0 129 17.0 1.6 270

_65_



NSk 275 Reduce Hex Head/Full-Hex Body

RHH-FHB

| Hole Size

[E47) Unit srmm

Part
MNumber
Max0.7 | RHH-FHB-0425 | 05 | 25 60 6.7 59 70 05 1.0
RHH-FHB M4 RHH-FHE-0450 | 25 | 50 60 &7 59 7.0 05 135
Material : Steel Msx0.8 | RHH-FHB-0530 | 05 | 3.0 7.0 20 6.9 8.0 05 145
HE: % Ms RHH-FHE-0550 | 30 | 50 70 90 6.9 80 05 16.0
M6x1.0 | RHH-FHB-0635 | 10 | 35 90 100 89 10,0 06 16,0
M6 RHH-FHB-0660 | 35 | B0 9.0 100 89 100 06 18.0
M8%1.25| RHH-FHB-0840 | 1.0 | 40 110 115 | 109 120 | 085 | 180
w8 RHH-FHE-0860 | 40 | 6O 1.0 115 | 109 120 | 085 | 200
M10 RHH-FHE-1035 | 1.0 | 35 13.0 125 129 145 | 075 | 190
M10 RHH-FHB-1060 | 35 | 6O 130 145 | 129 145 | o075 | 235

EiL27°/ Flat Hex Head/Full-Hex Body

FH-FHB

Hole Size
1
! £ 1 ]
H 1S ¥ M ¢ RN
| Sy = -0 !
e 3
= Sy
/._.1__..
[E4ir)Unit :mm
Dimension and Performance
MGrp Range)  FLiEHole Sze
Min Max +0.1
Ma=0T FH-FHB-0420 0.5 2.0 6.0 B85 59 9.0 0.8 1.0
FH_FHB M5=0.8M FH+HFHB-0525 0.5 25 7.0 8.0 6.9 10,0 1.0 140
Material : Steel

H.ﬁ i % 6x1.0 FH-FHB-0630 05 3.0 9.0 85 89 2.7(13.0 135 [15.0{16.0]

MB=1.25 FH-FHB-0835 1.0 35 1.0 105 10.9 16.0 15 18.0
M10=1.5 FH-FHB-1035 1.0 a5 13.0 125 129 [8.0019.0] 1.7 [21.0(23.0)

M12x1.75 FHHFHE-1240 1.0 4.0 15.0 14.0 14.9 200 1.7 23.0

M10x1.5 | FH-FHB-1035(12H) 1.0 35 120 135 119 18.0 1.7 21.0

M12 FH-FHB-1250{16H) 20 5.0 16.0 165 159 230 20 27.0

_66_



INTUSE275f (BFL) Reduce Hex Head/Ful-HexBody - Closed End

RHH-FHBC

RHH-FHBC
Material : Steel
HE: B

HD

Max

o
oy
=1 -
A

Hole Size

(88452} Unit :rmm

M4x0.7 | RHH-FHBEC-0425 0.5 25 6.0 123 59 7.0 05 160
ME=0.8 | RHH-FHBEC-0530 05 30 7.0 152 6.9 80 05 200
MBx1.0 | RHH-FHBC-0635 0.5 35 9.0 145 893 100 06 205
Mgx1.25| RHH-FHBC-0840 1.0 4.0 11.0 17.0 109 120 0.65 230
M10%1.5| RHH-FHBC-1045 1.0 4.5 130 200 129 140 075 285

*ﬁﬂlj\ﬁ%ﬁgl‘f{ﬁ ( EH.; ) Reduce Hex Head/Inner-Hex Body-Closed End

RHH-IHBC/SS

RHH-IHBC/SS
Material : Stainless Steel
HHE: 5N

HS

T|Grip Range)

puISRRELREI

g

1 and Performance D

FLiZHole

Hole Size

(B4} Uit srm

Part
Number Min Ma +H1
M4x0.7 | RHH-IHBC/S5-0420 | 0.5 20 6.0 1.5 59 7.0 05 155
MS5x0.8 | RHH-IHBC/S5-0525 | 0.5 2.5 7.0 125 6.9 80 05 180
MEx1.0 | RHH-HBC/55-0635 | 0.5 35 9.0 158 89 10.0 0.6 215
MBx%1.25 | RHH-HBC/SS5-0B40 | 1.0 25 11.0 182 109 120 0.65 24.0
M10%1.5 | RHH-HBC/S5-1040 | 1.0 40 130 232 129 140 078 305

_6_{'_



EiL23fF (57 ) Flat Head/Full-Hex Body-Closed End

FH-FHBC

B r i ) Hole Size
xﬁ: I "—I:'l ot ] | s Ny
1
f
L w0

(80452 Unit :rmm

rt
Numiber Max

Max0.7 | FH-FHBC-0420 05 20 6.0 1.0 59 2.0 1.0 150

MSEx0.8 | FH-FHBC-0525 0.5 25 7.0 135 6.9 100 10 180

MEx1.0 | FH-FHBC-0630 05 3.0 9.0 17.0 89 127 15 230

FH-FHBC MBx1.25| FH-FHBC-0835 1.0 35 1.0 18.0 10.9 16.0 15 26.0

Material : Steel

HE: & M10x1.5| FH-FHBC-1040 1.0 40 130 250 128 19.0 20 330

AEEPMFEL A7 A (BFL) Flat Head/Inner-Hex Body-Closed End

FH-IHBC/SS

= _a r } ) Hole Size
ey [ IS

L

-

o

”

—
¥ b
{
‘ . & N (43E) Uit s
NS N 1 and Performance D 1

—

ne T|Grip Range) FLiZHole
Part
=i \ her Bin N ET +H,
FH-IHBC/SS Number Ain Ma 3.1
Material : Stainless Steel M4x0.7 | RHH-IHBC/SS-0420 | 05 | 20 60 1.5 59 2.0 10 160
HE: 759
M5x0.8 | RHH-IHBC/S5-0525 | 0.5 25 7.0 135 6.9 100 1.0 185
M6x1.0 | RHH-HBC/SS-0635 | 05 | 35 a0 17.0 89 127 15 23.0
Mg%1.25 | RHH-HBC/SS-0B40 | 1.0 | 35 11.0 182 | 108 16.0 15 25,0
M101.5 | RHH-HBC/SS-1040 | 1.0 4.0 130 250 129 19.0 1.7 330

_68_



INTLEERYM A Reduce Hex Head/Inner-HexBody

RHH-IHB

N

RHH-IHB
Material ; Steel
#E:

et

RHH-IHB/SS
Material : Stainless Steel
HE: AW

ELRS R AFlat Hex Head/Inner-HexBody

FH-IHB

ol

FH-IHB
Material : Steel
HE: ﬁ _—

FH-IHB/SS
Material : Stainless Steel
HE: AEW

H ¥
Hole Size
| I
1
Ni \ ; OS] vl
- 1 ]
—3 !
3 T
T
Lo |
[E45) Unit :mm
Dimenson and Perfarmance
@ : TiGrp Range)  Fli2Hole Size
Threed Nurmber M Max +0.1
M4x0.7 RHH-IHB-0420 0.5 2.0 6.0 83 59 7.0 05 120
MS5=0.8 RHH-HBE-0525 0.5 25 7.0 a7 6.9 8.0 05 130
MEX1.0 RHH-HB-0635 1.0 3.0 9.0 10.5 89 100 0.6 160
MEx1,25 RHH-HB-0835 1.0 35 1.0 1.3 10.9 120 065 175
M10x1.5 RHH-=IHE=1040 1.0 4.0 13.0 128 129 145 Q75 21.0
[&4r) Unit :mm
TiGrip Range)
Min Max
RHH-HBE/55-0420
MSx0.8 | RHH-HB/S5-0525 0.5 25 7.0 82 69 80 1= 130
MEx1.0 | RHH-HB/SS-0630 05 30 9.0 10.7 89 100 06 16.0
MBx1.25 | RHH-HB/S5-0835 1.0 25 1.0 11.2 108 120 065 175
M10=1.5 | RHH-HB/S5-1040 1.0 4.0 130 135 129 14.5 [ -] 210
| Hole Size
% | ]
Ng | //I_\J Ny
<[]
=
)
[88457) Unit :rmm
Ty TiGirip Range)
Part
Number Bin Max
MA=0, T FH-IHB-0420 0.5 20 6.0 83 59 9.0 08 11.0
M5=0.8 FHHHB-0525 0.5 2.8 7.0 8.7 6.9 100 1.0 120
ME*1.0 FHAHB-0630 1.0 3.0 9.0 10.5 89 127 13 155
MBx1.25 FH-IHB-0835 1.0 = £ 11.0 113 109 16.0 158 18.0
M10x%1.5 FH-IHE-1035 1.0 3.5 13.0 128 129 180 1.7 210
[EB45E) Unit :rm

Cirm

T{Girp Range)

Bin

n and Performance
FLiEHole Size

Max +H1

Max0.7 | FH-HB/S5-0420 0.5 20 6.0 7.2 59 9.0 0.3 110
MExO8 | FH-HB/SS5-0625 05 2.5 7.0 75 6.9 100 1.0 120
MEx1.0 | FH-HB/SS-0630 05 3.0 9.0 9.2 a9 127 13 155
MB%1.25 | FH-IHB/S5-0835 k] 3.5 11.0 11.0 10.9 16.0 15 180
M10x1.5 | FH-IHB/S5-1040 1.0 4.0 130 13.2 129 180 1.7 210

_69_



’J\}.’E*mﬂ'?{ﬁ ( ﬁﬁ) Reduce Hex Head/Inner-Hex Body - Imperial Hole

HE

|

RHH-IHB-UK fiole Size
v |
= = |
D
H || IS
| —— [
z 3 <Ii
I
RHH-IHB-UK
Material : Steel (248 Unit :mm
HMiE: %
e
Part
Murmbear Mir Max
M4x0.7 ISO | RHH-HB-UK-0420 | 0.5 2.0 640 6.5 6.25 7.25 05 10.5
M5=0.8 IS0 | RHH-HB-UK-0525 0.5 25 7.20 7 T.05 810 0.5 12.0
ME=1.01S0 | RHH-HB-UK-0630 1.0 3.0 9.60 9.2 9.45 1080 [ 06 15.0
M8x1.25 IS0 | RHH-IHB-UK-0835 | 1.0 35 10,60 105 10.45 115 | 065 | 165

AN A (34K ) Flat Hex Head/Inner-Hex Body - Imperial Hole

T ——

FH-IHB-UK JCTQ r

f—
[- =

LAY

=
=
]

l
H}:‘;.

Hole Size

FH-IHB-UK We
Material : Steel Part
Mumiber
HE: &%

M4=0.T ISO | FH-IHB-UK-0420 0.5 20 640 65 625 9.5 06 105
M5=0.8 IS0 | FH-IHB-UK-0525 05 25 7.20 15 7.05 100 0.8 12.0
M&=1.0 IS0 FH-IHB-UK-0630 1.0 3.0 9.60 9.2 9.45 12.95 1.0 155
M8x1.25 IS0 | FH-IHB-UK-D835 1.0 ol 10.60 10.5 10.45 16.5 115 18.5

_?O_



FLFRUMRE Flat Head/Square Body

FH-SQB

FH-SQB

Material : Steel
HE: &

N

v

(B4 Unit :rm

EHHNIRE Flat Head/Slotted Body

FH-SLB

FH-SLB
Material : Steel
HR: &%

M5=0.8 FH-SQB-0515 0.5 1.5 7.0 8.0 6.9 105 0.6 11.2
MEx0.8 FH-SGB-0530 i 3.0 7.0 8.0 6.9 105 0.6 127
MBE=1.0 FH-SQB-0620 05 25 9.0 85 89 140 08 143
MBE=1.0 FH-SQB-0640 25 4.0 9.0 95 8.3 14.0 0a 17.2
MEBx®1.25 FH-50B-0830 1.0 3.0 1.0 115 10.9 175 13 186

! ! E |

Ny PR
= =)
k=
=
(88452 Unit srmm

Part
Numiber Max
ME5x0.8 FH-SLB-0545 0.5 45 75 9.6 74 127 1.0 22,0
ME*1.0 FH-SLB-0670 0.5 7.0 88 125 8.7 16.0 15 27.0
MEx1.25 FH-SLE-0870 1.0 7.0 11.0 14.3 11.0 19.0 16 305

__',"T_



I~ &%] Sign Standoff - SSD

| m '

Brushed Mirror Gold brush  Mirror gold
Tk =422} aE bz 3 REE
| T @t
Black White Solid
BE BE& oy

s

1. RGTEE EITFL
1.Punch holes in the wallwith
power drill

STAND
OFF

AR T i R
APass the screwdriverthrough
the base

-

»

s o
3.Separate the base andscrews

2 FE T HEEE AL
2Insert the wall anchor intothe:
hale with a hammer

k
SHESSTWENESERTE

SScrew bar through the glassthen
tighten with the base

6. AEE
6.Finished picture

12%20 12 20 15 5 M3 14 8 9
12x25 12 25 20 B Ma 15 8 9
12%30 12 a0 25 5 M3 15 8 9
12x40 12 40 35 5 Ma 15 8 £l
12460 12 B0 55 5 Ma 15 8 8
12x80 12 80 5 S Ma 15 8 ]
16225 16 25 20 5 Mi0 18 10 i2
16x30 16 30 25 5 M10 18 10 12
16x40 16 40 35 -] M0 18 10 12
16x60 16 B0 55 ] M10 18 10 12
16x80 16 &0 75 B M10 18 10 12
19x25 19 25 20 ] MI10 18 10 13
19x30 19 a0 25 g M10 18 10 13
19x40 19 40 35 L M10 18 10 13
19x60 18 &0 55 5 M10 18 10 13
19x80 19 BO 75 5 M10 18 10 13
25x25 25 25 20 ] M10 1 1" 15
25x30 25 30 25 5 M10 18 b 15
25x40 25 40 s 5 M0 18 n 15
25x60 25 B0 55 5 M10 18 1 15
25x80 25 a0 75 5 MO 18 n 15
-72-



WL~ &%] Double head sign standoff - DSSD

D
Example: 12*30mm
) 30mm
£ | "
E —
=
o™~

—
BI%E: 4-10mm

" “—'I e

* 4 . -‘
I —

Mirror goldSE£8&

Sliver 5

Black &

Rose goldBIEE

- 2o
Thread

1230 12 20 4~10 Ma 5
12x35 12 2] 4~10 Ma L
12x40 12 30 4-10 M8 5
12x45 12 35 4-10 wa 5
12x50 12 40 4-10 Ma 5
12455 12 45 4-10 M3 5
12x60 12 50 4-10 M3 5
12x80 12 T0 4=-10 wa 5
12x80 12 80 4-10 Ma 5
12x100 12 90 4-10 M3 5
12x150 12 140 4-10 Ma 5
19%85 19 75 4=-10 wMa 5
19x125 19 115 4-10 Ma 5
19x155 19 145 4-10 M3 5
250 25 30 4-10 Ma 5
25x50 25 40 4-10 ma 5
25xB60 25 50 4-10 Ma 8
25xB0 25 70 4-10 M3 5
25x100 25 90 4-10 M3 5
25x120 25 110 4-10 ma 5

_73_




W iLEET Double head screw cap - DSC

WHE6E
Rose Gold

=6 R
Gold Sliver
b ST FiE
rubber pad solid nail main body
I | |
|9
IEHLE front view IEE side view

12x16 12 16 §-6mm
12x20 12 20 8~10mm
12x25 12 25 12~15mm
12x30 12 30 18-20mm
16216 16 16 5-6mm
16x20 16 20 8~10mm
16x25 16 25 12~15mm
16x30 16 30 18-20mm
19216 19 16 S~6mim
19x20 19 20 8~10mm
18x25 19 25 12~15mm
19x30 19 30 18~20mm
25x20 25 20 8-10mm
25x25 25 ] 12=15mm
25230 25 30 18~20mm
30x20 30 20 8~10mm
30x25 30 25 12-15mm
30x30 30 30 18~20mm

_?4_



A NS Stainless Steel screw cap - SSSC

/m B Nozzle FE0E Without Nozzle
' It
s

’ i 5384347 Split Analytic Graph

. - A R

gy

SEihs
Decorative cover

{

h2

12x4 12 4 1 35 27 55 B 23
14x4 14 4 13 3.5 3 55 5 23
16x3 16 3 15 35 37 5 5 23
18x3 18 3 17.5 35 3 5 5 23
20x3 20 3 19.5 35 27 5 & 23
22x3.5 22 35 21 a5 27 5 5 23
25x4 25 4 24.5 3 a7 4.5 ] 23
30x4 30 4 29.5 4 35 5 5 23

_75_



$fli%$] Brass screw cap-BSC

HMSE Rose Gold ” ”

LT

y BE silver
[ P d
21 Black
D
HE gold
’ g

SESHE Split Analytic Graph

P & ] S
= _

SiE Curved *FE Flat

10x5 10 5 nMa 4 20
12x5 12 5 M10 4/5mm 20
14x5 14 5 M10 4.5/5mm 20
16x5 16 5 M10 5 20
18x5 18 5 M16 6 20
19x6 19 6 M18 6-8mm 20
20x5 20 6 M18 6 20
22%5 22 6 M18 6 20
25x5 25 6 M20 5 20
30x5 30 6 M20 6 20

_?6_



IREIEE R
ED

THREADED STANGOFFS




ES R EHEE R E Rk

#Zi: DO

1.ZENE T EIEEHRHE—TNERTRERL,
Provide mounting hole of specified size for each fastener.

2EERRERNZENZAIENERGNER (S01E) AREALDP,
Make certain that shank (or pilot) is within hole before applying installation force,

JFEEAFTHNEZRIEINNEN . NEHNRATEERANEEZEMH KRBT

Apply squeezing force between parallel surfaccs.

A FERMNBEBHNEZXNENEREEE N B RE2RAFEOSEIEFFHREM

Apply sufficient forcc to totally embed clinching ring around entire circumference and to bring
shouldersquarely in contact with sheet. For some fasteners, installation will be complete when the head is
flushwith the panel surface.

#==: DONT

1. ASEEREFREL R R Z a2 RN A FWEE .
Install steel or stainless steel fasteners in aluminum panels before anodizing or finishing.

2ABELREEWERGZAERBONERN—REAERERNSHEERTNEZEH SROEE
Deburr mounting holes on either side of sheet before installing fasteners - deburring will remove metal
requiredfor clinching fastener into sheet.---

AAZHNRPNERADSESERARINDSZEENEZET . (RTERSHERRLLRIDSER)
Install fastener closer to edge of sheet than minimum edge distance indicated by manufacturer — unless a
specialfixture is used to restrict bulging of sheet edge.

AFREIEHFE, XSFFLSP, ERVNEEHERSH . E/HEE s, MZETHERERERR] .
Over-squeeze. It will crush the head, distort threads and buckle the sheet. Be certain to determine
optimuminstallation force by test prior to production runs.

bABHEREFRTEZEMY, EFASERMFERMTREE S EEHRIEI £
Attempt to insert fastener with a hammer blowunder any circumstances.Ahammer blow won't permit the
sheetmetal to flow and develop an interlock with the fastener's contour.

6. AENEEUHRSL B LR, FEMEEHFLIINERE, XHERFEEEHINEER
Install screw in the head side of fastener. Install from opposite side so that the fastener load is toward sheet.
Theclinching force is designed only to hold the fastener during handling and to resist torque duringassembly.

7 ABEROIRERREEDRE .

Install fastener on pre-painted side of panel.

i NREWXREMFFRERASHRAXER, B5RATKR,

_TB_



2SS 0LSZ 6EL
NS Eg—w

.

SHEREN
ettt
sene

REMARUBEXEZEILEI2S101E

Add: No.32, Anjubei Road, Dalingshan Town,Dongguan,Guangdong,China

Tel:0769-82283511

RremEnEEASHRERAE
Dongguan Aotuo Precision Hardware Products Co.,Ltd

bk

E-mail: sales@dgaotuo.com
Web: www.fastenfirm.com



	傲拓7_1【宽21.00cm×高28.50cm】
	傲拓7_2【宽21.00cm×高28.50cm】
	傲拓7_3【宽21.00cm×高28.50cm】
	傲拓7_4【宽21.00cm×高28.50cm】
	傲拓7_5【宽21.00cm×高28.50cm】
	傲拓7_6【宽21.00cm×高28.50cm】
	傲拓7_7【宽21.00cm×高28.50cm】
	傲拓7_8【宽21.00cm×高28.50cm】
	傲拓7_9【宽21.00cm×高28.50cm】
	傲拓7_10【宽21.00cm×高28.50cm】
	傲拓7_11【宽21.00cm×高28.50cm】
	傲拓7_12【宽21.00cm×高28.50cm】
	傲拓7_13【宽21.00cm×高28.50cm】
	傲拓7_14【宽21.00cm×高28.50cm】
	傲拓7_15【宽21.00cm×高28.50cm】
	傲拓7_16【宽21.00cm×高28.50cm】
	傲拓7_17【宽21.00cm×高28.50cm】
	傲拓7_18【宽21.00cm×高28.50cm】
	傲拓7_19【宽21.00cm×高28.50cm】
	傲拓7_20【宽21.00cm×高28.50cm】
	傲拓7_21【宽21.00cm×高28.50cm】
	傲拓7_22【宽21.00cm×高28.50cm】
	傲拓7_23【宽21.00cm×高28.50cm】
	傲拓7_24【宽21.00cm×高28.50cm】
	傲拓7_25【宽21.00cm×高28.50cm】
	傲拓7_26【宽21.00cm×高28.50cm】
	傲拓7_27【宽21.00cm×高28.50cm】
	傲拓7_28【宽21.00cm×高28.50cm】
	傲拓7_29【宽21.00cm×高28.50cm】
	傲拓7_30【宽21.00cm×高28.50cm】
	傲拓7_31【宽21.00cm×高28.50cm】
	傲拓7_32【宽21.00cm×高28.50cm】
	傲拓7_33【宽21.00cm×高28.50cm】
	傲拓7_34【宽21.00cm×高28.50cm】
	傲拓7_35【宽21.00cm×高28.50cm】
	傲拓7_36【宽21.00cm×高28.50cm】
	傲拓7_37【宽21.00cm×高28.50cm】
	傲拓7_38【宽21.00cm×高28.50cm】
	傲拓7_39【宽21.00cm×高28.50cm】
	傲拓7_40【宽21.00cm×高28.50cm】
	傲拓7_41【宽21.00cm×高28.50cm】
	傲拓7_42【宽21.00cm×高28.50cm】
	傲拓7_43【宽21.00cm×高28.50cm】
	傲拓7_44【宽21.00cm×高28.50cm】
	傲拓7_45【宽21.00cm×高28.50cm】
	傲拓7_46【宽21.00cm×高28.50cm】
	傲拓7_47【宽21.00cm×高28.50cm】
	傲拓7_48【宽21.00cm×高28.50cm】
	傲拓7_49【宽21.00cm×高28.50cm】
	傲拓7_50【宽21.00cm×高28.50cm】
	傲拓7_51【宽21.00cm×高28.50cm】
	傲拓7_52【宽21.00cm×高28.50cm】
	傲拓7_53【宽21.00cm×高28.50cm】
	傲拓7_54【宽21.00cm×高28.50cm】
	傲拓7_55【宽21.00cm×高28.50cm】
	傲拓7_56【宽21.00cm×高28.50cm】
	傲拓7_57【宽21.00cm×高28.50cm】
	傲拓7_58【宽21.00cm×高28.50cm】
	傲拓7_59【宽21.00cm×高28.50cm】
	傲拓7_60【宽21.00cm×高28.50cm】
	傲拓7_61【宽21.00cm×高28.50cm】
	傲拓7_62【宽21.00cm×高28.50cm】
	傲拓7_63【宽21.00cm×高28.50cm】
	傲拓7_64【宽21.00cm×高28.50cm】
	傲拓7_65【宽21.00cm×高28.50cm】
	傲拓7_66【宽21.00cm×高28.50cm】
	傲拓7_67【宽21.00cm×高28.50cm】
	傲拓7_68【宽21.00cm×高28.50cm】
	傲拓7_69【宽21.00cm×高28.50cm】
	傲拓7_70【宽21.00cm×高28.50cm】
	傲拓7_71【宽21.00cm×高28.50cm】
	傲拓7_72【宽21.00cm×高28.50cm】
	傲拓7_73【宽21.00cm×高28.50cm】
	傲拓7_74【宽21.00cm×高28.50cm】
	傲拓7_75【宽21.00cm×高28.50cm】
	傲拓7_76【宽21.00cm×高28.50cm】
	傲拓7_77【宽21.00cm×高28.50cm】
	傲拓7_78【宽21.00cm×高28.50cm】
	傲拓7_79【宽21.00cm×高28.50cm】
	傲拓7_80【宽21.00cm×高28.50cm】

